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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. If AC B then 4— B is equal to: | -q..bm:L;A—B?AQBﬁ 1.1
(A) A (B) B () ¢ (D) B-4

2. The extent of variation between two extreme observations of data set is called: _L,g.iffu").f_':.,utj@!&lﬂf( 2

(A) average Ll (B) range <& (C) quartiles ~UNE (D) None uﬁf

3. Standard form of quadratic equation is: | _J.ﬂ;-_fd.ajzlef:.-hwﬂ;m .3
(A) bx+c=0,b+0 (B) ax’ +bx+c=0,a#0
() ax’* =bx, a#0 .. (D) ax’* =0, a0

2 ' 2
4. If &, B are the roots of 3X +5x—2=0.then{x+ﬁis: -ff_zl4a+ﬁ?uﬁuj.u£3x +5x'—2=0..=,upﬁra:ﬁ 4

2, 3 -5 -2
(A) 3 B) 3 © 3 0) 5
5. The discriminant of equation @x” +bx+c=0 js. b o +bxte=0u40. 5
(A) b* —4ac (B) b* +4ac (€) ~b* +4ac (D) ~b* ~4ac
6. Inaratio X:y, ¥ is called: et YU X yes’ 6
(A) relation [}'; (B) antecedent H:d:f (C) consequent ﬁg/u (D) none of these u.‘.”df
a_¢ _ a_c
7. If E = E then componendo property is: -:';:--:-':'L_«:.f:;;ﬁ 3 - E’)‘T T
a a ¢ ad a-b c-d
W a+b ctd ® a-p c—d © e By " g
8. A fraction in which the degree of numerator is greater or equal to the Akl e o1t Fos m"f;kﬁu.fu’/ 8
degree of denominator is called: -;;Hdull;f.__--:f
(A) a proper fraction /.,.-::f: (B) an improper fraction /._,#Lyf
(C) an equation = isL+ (D) none of these e Al
9. The set having only one element is called: - _.r‘:.t'wf:w’:.._l;’lh.iﬁgﬁu’-d-_r 9

(A) null set ufdl:f (B) power set xl (C) singleton n.f.—_{"t.('./ (D) subset -.LrCS;



10. In the figure O is the centre of the circle, then angle Xx is: B curmemmet X ,}";_Oﬂ}b’.«__,?hgtﬁ 10

(A) 50° (B) 75° (€) 100° (D) 125°

11. The length of the diameter of a circle is how many ?;;-_J;«rl;"’gﬁmuﬁe_jhélrhfﬁ.ﬂ;jhhﬁ 11
times the radius of the circle?
(A) 1 (B) 2 €) 3 (D) 4
37 3z

12. =4 radians is equal fo: —e sl ko % 12
(A) 115° (B) 135° (C) 150° (D) 30°

13. Line segment joining any point of the circle to the centre is called: ig_tuf_.-____ﬂhi_&f}ff;.,bﬁu’z:_}b A3
(A) circumference L# (B) diameter & (C) radial segment .51, (D) perimeter bbf

14. In the adjacent figure find half perimeter of circle m _fﬁ,&urs";j:,_w¢fd’f5; A4
A 0 B

if. 7 =3.1416 ang mOA =20cm with centre O.

7 =3.1416 . mOA = 20cm -/

(A) 31.42 cm (B) 62.832 cm (C) 125.65 cm (D) 188.50 cm

15. The length of a chord and the radical segment of a circle are congruent Hi:i;}:b_?;!gugyJJiwjl}:b’;;_fb_.ﬁ 15

, the central angle made by the chord will be : 1 ” :Udff
(A) 30° (B) 45° (€) 60° (D) 75°
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Marks: 60 Time:2:10 Hours g 2:10:=3 60:/:}
Section -I 2x18=36 Jilo
2. Write short answers of any six parts from the following. 2x6=12 -q&f.:..l;l.ﬂ;"ﬁrl:’:fgc_Gf::..u!J_ij: 2
i. Solve. x*+2x-2=0 JAL
ii. Solve by factorization. 5x* =13x I SE S i
" : 2 .. "
iii. Discuss the nature of the roots of equation. x“+3x+5=0 -Q/%{(UlJﬁxéalsu il
~1++/-3 |
iv. Find W’ If W= 5 | 1/";4/?‘:1”' Wiy
v. Prove that the sum of the cube roots of unity is zero. .r.f_t'::}‘.n‘”—' K.._»ﬁjl;jgrb?ﬁgwj L.{/..—.,;E vV
6
vi. Evaluate: : (1 —w—w’ ) -L{)?.r"”af Vi
vii. Define ratio and give an example. -LJJJEE‘-QJJ[%-E}'U::'&J Vil
1 N 1
viii. fwoc—- and w=2when v =3, then find W. -L{/[;:l’” Wiiv=3coaw=2swx --ivﬁ Vil
v v
ix. Define inverse variation. _é_f:.ég PSS E i

3. Write short answers of any six parts from the following.  2x6=12 - zf=l2fLizige Meifitn .3

.. Define a rational fraction. _q/_y/U (S
- x—2 .

i. Resolve into partial fraction. (x +2)(x g 3) L,j/w&;/d::z i
iii. Define subset and give one example. -L,::‘Jﬁ'ﬁ.ﬁ;;u/._gﬁJqG; i
iv. f A={a,b} and B={c,d}.thenfind Ax B. -y AxBIB={c,d} s A={a,b} fi v
v. Find XU(YUZ2) it Ay XU(YUZ) v

X ={1,3,5,7,........ 19} , ¥ ={0,2,4,6,8,.....20} , Z={2,3,5,7,11,13,17,19,23)

vi. Find X UY if | X=¢,Y=2" ,Z=0" Syl XUY i
vii. Define class limits. S8 i
viii. Find arithematic mean of given data. 12,14,17,20,24,29,35,45 q/?:bfwf_}w;;rf efé,: Viii

ix. Define class mark. SIS ix




4- Write short answers of any six parts from the following. 2x6=12 -q&;@;mﬁﬁf’zlggéfgﬁdjbﬂ -4

i. Define angle of depression and represent it by figure. -u_f/fz;lé:c:.d‘?’fu’uﬂqf..yﬂfd:ﬁgsl} i
~T7r 1z
i. Convert 5 into degree measure. -L{fdé'ulfd/@f g i
iii. Find r ,when. (=52cm , =45 :,géq)}}v ol
iv. Define the diameter of a circle and represent it by figure. _q&w;ffgr;,_tg_fh.y}Jﬁégﬁlj v
v. Differentiate between interior and exterior of a circle. S O Vs mteaill e Jy
vi. Define the length of tangent. SIS JUJJ ¥ i
vii. Define square and represent it by figure. _L{/fqllifw:_ﬁ:u/hgﬁf &; Vil
viii. Define the in-centre. SIBIE i
ix. The length of each side of a regular.Qctagon is 3cm. Measure its perimeter. -L,:z?sl"‘}bib’m:‘:.(‘ adLJJ é“' Lf(g’ L ix
Section -1I r»,.b
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 .g.dsuaj?dfr,éq&;a;m‘{.e,mﬂfj (o
5. (a) Solve the equation. 3242 =123 -3 SISt () 5
(b) Find "P" if the roots of the equationx” +3x+P—2=0 ﬁq)f'}m}f P ()
differ by 2. -ﬁJ}KZ;ﬂ'dn& X +3x+P—-2=0cbl~
__X¥-3y x+3z _ 3yz :
6. (a) Using theorem of componendo-dividendu, N x+3y - x-3z Ey: x____ y—z S () 6
x-3y x+3z _ 3yz a
find the value of: ., 3y  x—3z: if* = y—z- _uf/F‘:]”i.ﬁi.def&fm?«;@ﬁ
x* +7x +11
(b) Resolveinto partial fractions: ( " +2)2 ( x+3) _q_’/‘_,kb: Sz (&)
7. (@) Verify Demorgan's law (A B)r =A'UB' :ﬁq/QﬁJ (4 I']B)Jr = A'UB w6 L Sugs (L) .7

U={1,2,3,4,....10} , 4={1,3,5,7,9} , B={2,3,4,5,8}

(b) Find Arithmetic Mean and Harmonic Mean for the following data. -L{/?':l”mI_@T(T;:IL!:!L}L?:.JWJJZ-,;: (,_r,)
12 ,14,17 ,20,24 ,29, 35

8. (a) Prove that: secH —cosf =tan@sinf BN ¢ é_.‘l:-(:-:l* () .8
(b} Draw two common tangents to two intersects L;;qu_tr‘ 43U s nl /] (‘ﬁ'i.s (._:_,)
circle of radii 3cm and 4cm. .,u,:.f:*{)'mf bl

9. Prove that a straight line, drawn from the centre of a circle to bisect a -.-5::‘5'-1.5, (ﬁ;ﬁﬁ)}sﬁr :.:.}fr.f.;.}bf J_f..-:.qb‘ 9

chord (which is not a diameter) is perpendicular to the chord. OR L *q:,t'ﬂ:!f{}:rﬁﬁﬂbé./
Prove that the measure of a central angle of a minor arc of a circle is ;,ﬁ,ai,c'iﬁ,,gud};*w:é._:_u/:f‘U;uCg..,:FbJ:f f:_,".f:-:.:t‘
double that of the angle subtended by the corresponding major arc. _;;_t'xl:»’i;;*_.i_:f.};:-’;‘ﬂa/{u‘}jb'?@ f
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A6z *:.wﬂ.,:..—'i'f;.,.-!i:uiugéfé.;D.u!,C,B,A:.«I,Iﬁ;@‘tgéid!yﬁéﬁ’gjqE’L}fﬁu:fsf‘éfd;al,iﬁé:awfrﬁ:é;

- NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The number of elements in power set of set {1,2, 3, 4} are; -.g.amiﬂ"&;,fﬁrlﬁ..tfﬂgﬁ{ 1,2,3,4} .11
(A) 4 (B) 8 (C) 16 (D) O

2. Power set of an empty set is:

(A) ¢ B) {a)

3. The number of terms is a standard quadratic

equation @" +bx+¢c=0 gre; _;‘;.JLJJLJ;Z
(A) 1 (B) 2 (C) .3 (D) 4
4. The nature of the roots of equation @ +bx+¢ =0 js a.Ej_}Ll’ja;:)f'LFlJﬁJL ax’ +bx+c=0,.. 4
determined by. bbb

(A) sum of roots ++% H’uj_u
(C) synthetic division rf‘ gy
5. Sum of the cube roots of unity is:
(A) O B) 1
6. The 4" proportional w of X: Y VW is:
b W
(5) v (B)
rd 3 2 2,
7. The 3" proportional of ¥ and V is:
2
Y : 2.2
(A) 2 ® *JV

2
8. The identity (5x+4)" =25x" +40x+16

true for values of x .
(A) onevalue of x 2 L=

(C) all values of x 2_[_';_;;,::"(;}

_LIJﬂLLﬁL«ijL/JL;(LffJJWLJu:)'b{.’-D L CB-A sz LWL

e brndausl Kl 2
© [¢{a}] () {4}

e ax’ +bx+c=0 ellafm 3

(B) product of the roots 4} R
(D) dism::rim_inant ufu'/"
_.';_;:fKJI;.I.ELJK! 5
(C) -1 '(D). 3
PR Xy YV IW B

X
) ¥ @) o,

vy
_..:_*-..._.«r*lf:!/.fg'y »x 7
ey 2 ny B
© O

§ X (5x+4)" =25x* +40x+16 _ ¢ g
_{_.MJJE.AJ_/&E
(B) two values of x 2 L Usds

(D) none of these (_;.i‘;&(:,u:u,n




-

9. In the adjacent figure if: mAC =3em , mBC =4em , m£C =90° :ﬁu—‘-ﬁfd: 9

Then the radius of circle is: . 1 P 1Y
s \O
o 3 A
(A) 1.5 cm (B) 2.0 cm (C) 2.5 cm (D) 3.5 em
10. The measure of the external angle of a regular hexagon is: _?Jﬁx!ﬁ‘f%ﬁ}ﬂwﬁqﬁ,ﬁ” q,'ll 10
T /s T T
(A) 5 - B) 4 ©) ¢ B) 5
11. A grouped frequency table is also called: _.i:.bﬂ;fdjgd;ﬁw:f A1
(A)data sl (B) frequency distributuion (£ (5
(C) frequency polygon {,il.bﬂl/.‘%(d;ﬁ (D) None of these ufJfau:uﬂ
12. Union of two non-collinear rays, which have common end point is called: ...;I:,tllﬁ.w_f Pys’w"ufbf"ﬁfyfu 4
(A) anangle sl (B) degree d/'? (C) minute &= (D) radian /4
13. A complete circle is divided into: e Hglg’?-:;] ;C_..fhdj £ .13
(A) 90° (B) 180° ) 270° (D) 360°
14. A line which has two points in common with a circle is called: e tieunS; FEnd L e L 14
(A) sineofacircle , sinebe /s (B) Cosine of a circle | cosinebe_ /1
(C) tangent to a circle , tangenté. 7l (D) secantof acircle secantbe_ 7l

15. The semi circumference and the diameter of a circle both subtend a central angle of: —<bsi sliS 2 6hsidle > 15

(A) 90° B) 180° | (©) 270° (D) 360°

19-010-A-3 3¢
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Marks: 60 Time:2:10 Hours &£ 2:10:2% 60: /7
Section -1 2x18=36 Jito
2. Write short answers of any six parts from the following.  2x6=12 . felin L imge et ditn .2
i, Define quadra_tic equation. *q;_éfJaf:PﬁzJj: A
ii. Solve by factorization: Sx’ =30x SIS F s i

iii. Find the discriminant of the equation. x*=3x+3=0 -%ﬁ’aﬁfu}b’pbu i

iv. Define symmetric functions. | SIS v

v. With out solving, find the sum and product Hostes Ku’?u,éfgd’fahp kY

of the roots of quadratic equation. x*=5x+3=0 -q/r":l”..‘.,/"

vi. Form a quadratic equation with roots 3 and 4. —UnA 3L JoeboetlaBin Vi
vii. Define ratio.—— - Sl e i |
viii. Find a fourth proportional to: 4x* , 2x* , 18x° —L/I;fl"’)l’/ur-f‘t;t;.l; Vi

ix. Find "x"in the proportion. 3x—2:4:2x+3:7 *%Pafd’ "x" St Lix
3. Write short answers of any six parts from the foliowing. 2x6=12 _q&faglﬁ/‘?ﬁplmgaﬂfz.;ﬂd:i@ﬂ 3

i. Define a rational fraction. _a.?:gﬁi/uﬂ’l: A
; 2 2 2 2

ii. Whether (¥+3)" =x" +6x+9 is an identity? SeelUfi(x+3) =x"+6x+9 0

iii. Define a subset and give an example. -u_’:u‘”:dt"ﬂ..gbslg-f.y ;"'J;_f.._r&? il

iv. Define binary relation and give an example. -4&&4;@(.@;%.:36‘ v

v. Define one-one function. | -L{f-_ngJ‘ﬁm-w v
vi. 1 X =11,4,7,9) and ¥ ={2,4,5,9} then find: X UY and VN X _z /o5 ¥ ={2,4,5,9} . X ={1,4,7,9} /i vi
vii. What is Histogram? | srELeifi i
viii. Define standard deviation. SIS PSS i

ix. Find the range for the weight of the students. SISk e ix

110,109,84,89,77,104,74,97,49,59,103,62




4- Write short answers of any six parts from the following.

I. Convert 6.1 radians into degrees.

i. Define an angle.

i, Find "r" when: J
iv. Define circumference of a circle.

v. What is meant by collinear points?
vi. Define tangent of circle.

vii. Define a secant line.
viii. Define escribe circle.
ix. What is meant by cyclic quadrilateral?
Section -II

5. (a) Solve the equation.
(b) If @, B are the roots of the equation X* + px+g = 0, then

evaluate ﬂv’gﬁ +ﬂ'ﬂ3 .

6. (@) Using Componendo and dividendo theorem

€=Z radian , £ =4cm

\/x +8p Jx +p

solve the given equation.

X +8p +4/x* = p?

(b) Resolve into partial fractions:

7. (a) Verify that:

(x -—1)(x+1)
(4UB)UC=4U(BUC)

26=12 Lo feln g e e hititn -4

LSSt B
_J/...ﬂ/’&:b i

LUl i

SIS Bl v

S Ve bELA v

SIS LFENEL e Hy i
SIS vii
SN i

Sl Ve o B ix

(192

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 _%djﬂsﬁdlr.ﬁqﬂfféglﬁﬁamyufj Ly
2x* =9x? -4

el () 5

uj.uf.xz +px+q=0cu. B 02 i (urr)

Yeil B +af jux
eJl eSS (L) 6
SIS e

...Q/Jy :,f.'.'.«rr/d::’.' (lf")
,.f’l_,{/n-'-'fﬁ' ) .7

i 4={1,3,5,7,9} , B={1,4,7,10} , C={1,5,8,10} ¥

(b) Find the Variance for the given data.

10,8,9,7,5,12,8,6,8 ,2

_.q_’)?:l” =z j&)i:’ffé_: (._,)

8. (a) A 20 feet long ladder is leaning against a wall. The bottom of the (£ f,?;.@ﬁﬁibcﬁ;lg:f ,a'u!.:.ﬁZD..fl () .8

ladder is 5 feet from the base of the wall. Find the angle of
~ elevation (acute angle) the ladder makes with the ground.

(b) Draw a circle which touches both the arms of angle 45°.
9. If two chords of a circie are congruent, then they will be

equidistant from the centre. OR
The measure of a central angle of a minor arc of a circle is double

that of the angle subtended by the corresponding major arc,

20-010-A-33000
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Marks: 15 Time: 20 Minutes &22#20:=% 15:7/
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I eSS SN 57 s IED | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Efiminating " from 37’ % and ! =4qu we get: e Posie sl " 3P ='}m’ = Z;'i“ 1.1
(A) 4p* =3q° (B) 3p’ =4q° () 12p*q* =1 (D) 3p’q* =4 |
2. Eliminating * from ¥+ =" and X =2 m e get: S bl bl x i X +':‘C =N X’ +%z =m" 5
(A) m'—n’ =2 ®) M +n =2 ©) m —-n*=-2 D) m +n =-2
3. What is the solution set of [*1+35=2. e +5=2 4
(A) {} (B) {3,-3} €) {7.-7} Oy {-3,7}
4. The solution set of x* +7x+12=0 is: - ¥ x*+Tx+12=0 4
(A){ 4.3} B) {4,-3} (C) {-3,4) (D) {4,3}
5. Which one order pair satisfied x+2y=35. ?.-.;_..*{J’ ¥ x+2y=5 Ijﬁh,ﬁ,?bujf 5
(A)(2,1) B) (2,2) € (1,2) (b) (1,3)
6. Which is compound sentence? ?.T_-__/'Cfa/z;i,—;; 6
(a) X=4 (B) *<4 ) x>4 ) *<4
7. Which is open sentence? e U AU 7
(A) 7>3 B) *x+3=9 ©) —4<-9 o 2>3
8. What is the meaning of: ¥ =2 ‘I ' el plfe ¥ 2 S 8

(A) ¥>3 B) *=3 (© ¥>Sor(¥=5 @) *<5




9. Half length of diameter is called: ~pEfdsls 9

(A) centre /f.«- (B) radius (C) tangent JV (D) mid point Jz'ﬁd,lfu
10. sinf.cosecl is equal to: el sin@.cosecl 10
(A) tan @ (B) secl ©) 1 (D) cosé

11. Eliminating "7" from the equation y —f =3g and x +7 = 2gwe get: € bl "t"¥ Y=t =3a 4 x+t=2a .11

(A) x+y=5a (B) x—-y=>5a ©) x+y=3a (D) x—-y=2a
x 4 4 x
12. I3~ , thenx is equal to: el x¥ T4 N2
13, 1f 9°0%:¢2d e attermend property is: etz @ibicd fo4q
a_b a_c a+b c+d a-b c-d

A . g B 3 4 © "5 4 ©® p 4
14. Arithmatic mean of data 4,9, 3, 15, 19 is: - Lridlo64, 9,3, 15,1917 .14

(A) 20 (B) 10 (C) 5 (D) 50

15. Kinds of data are: _u_;(u"ld;!:‘ 15

(A) 3 (B) 4 (€) 5 (B} 2

125-010-A- 3 3¢
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Roll No. e St ( Old Scheme) Subject Code|{ 3 | 1| 9
Session;2011-2013
&
Mathematics Compulsory (Essay Type) Group-II-.r:/ (210) dJlJU‘ LJ
Marks: 60 Time:2:10 Hours &£ 2:10:=% 60:
Section -I 2x18=36 Jito
2. Write short answers of any six parts from the following. 2x6=12 -q&fayrgﬁf&izga.éfc.wdj@u 2
i. Define true sentence. _J_/_éffgfn.ﬁ;uu i
ii. Write methods of solving simunitaneous linear equations. _.2%7 FLIL Ui i
iii. Solve by comparison method of: X=y=-2 ; x+y=l ~JIper e B L e i
iv. Sum of four continuous even numbers is 140. Find Numbers. _qu‘:l”:Iﬁf.;;.140,;:f b{!fﬁfﬁ&j‘{g AV
v. Show the point ( 2 , -3 ) by free hand graph. -L{/fqlﬁf( 2,-3) flle/f:.:J} v
vi. Find X and y from x+y=8 ; x-y=2 _qx’f‘:t"afgfyul X i
v2x+3-14
vii. Find the solution of: 6 ==2 _;,[/?.J-‘U’ Vil
viii. Find the solution set of: —8<7x-1<13 A i
ix. Find the values of z from: (22-1)(32+5)=0 LS 5 i
3. Write short answers of any six parts from the following. 2x6=12 -Q&*fayrﬁjﬁﬁfmgc_é:‘;:.d st .3
i. Define Eliminantion. | S/ b i
ii. Eliminate "#" from the equations. at>=x; b=y ~SIBL "" eyihls i
- ) _
iii. Eliminate X from the equations. x—-pg=0 ; ? =m _q_’/ﬁsbf X e Uil i
iv. What is meant by ratio? fe e iy
v. Find fourth proportional of: 7.:2%,35. _c_,;’:.f?:l"'-._-—"t;l.;:; V
vi. Find the mean proportional of: 16, 9. | -%}:"’gbﬂl&m Vi
vii. Define constant and variable, _.;.Z:{'j"gfj't'fm/f" Vi
viii. Find the median of the given data: 8; 12,18,13,16,5,20 _é?-FPghsﬂffié_: Viii

ix. Five numbers are given. Find its mode. 1,4,0,7,8 ki L Ly

JX




4- Write short answers of any six parts from the following. 2x6=12 -q);rfaglﬁﬁﬁprz[g;(jf:.utdjbﬂ -4

i. Define central angle. SO ANy
ii. Describe pythagores theorem. - S sl i
jii. Prove that: secd =+/1+tan’ 4 _a_::{.:..:& i
iv. Describe chord of a circle. SIS PEnL e v
v. Prove that: cos? @ —sin? @ =2cos? 61 -%C-::E- A%
vi. Define direct common tangent. e bl WS Py i
vii. What is the sector of the circle? Tq.by:l{/*g K 71> Vil
viii. Find the value of: sin 60° cos30° —cos60° sin 30° Y ptred il
ix. Constructa ALMN , when: msL=30°, mLN =4cm , mMN =2cm 2t ALMN L i
Section -II (230
Note: Attempt any three questions from the following: 8x3=24 ..q)}fc..u_eﬁmrmfg.&&.ut J_ s w2 d
5. (a) Plot the graph of following by taking at least four /L.Llabkﬁlfdff kUit soner (L) 5
order pairs (X,y € R). 3x+2y=6 (x,y€R) LS
2y +3|
(b) Find the solution set of equation when. y € R : T_S =8 . yeR :.?q/f‘sl-”d{d’b’auwéfds (l.:-')
6. (a) Solve by completing square method. pxt+qx+r=0 P=#0 -Q,’/J’C%/L}fgu:g () .6
x 1-t* y_ 2
(b) Eliminate "¢" from given equations: 5 = 1+12 ) - 1412 Bl e e u?hb*ljf ¢ (&)
7. (a) Find the value of X from 2x:4-x:2:3 glpad x (D7
(b) Find standrad deviation from x =19.5, Z x=195, sz =5333 *Q,J?}”JV]LSJ@:.:.«LJ"‘CSF 83 (.,f.)
8. Prove that if two chords of a circle are congruent, then u?u:fdﬂb“‘}: e ISz ﬁ;k .8
they will be equidistant from the centre. -Eﬁ#li(?.;}f-
9. (a) Make a circle of radius 1.5 cm. Draw tangent from point P which ePbl.c 1,508 bt (1) .9
is 4cm out side from the centre. Oyl &6l 4;}9,62%{4!
(b) Solve triangle ABC in which. msB=90°, b=5J2 , C=5em  -vivsy/SABCes: (o)

126-010-A-8000



* ; 5.8.C - (Pari-1I)-A- 2016

ROI l N 0. | _ __-*‘_Jr .E.!.'I;'JLU_:PF

( For all sessions ) Paper Code | 7 | 1 [ 9 | 1

Mathematics (Science Group)(Objective Type) Group-I- ..;.af (u".’:f’)(.,,.dfu“b)d‘ LJ

Marks: 15 Time: 20 Minutfes £2420:23 15 /
/dlmud 612 o Wt L4 5Dl C,B Aul'ffﬁba{:diffchfdgdf?ﬁ/"d{f:uLL'?[.’-_:UTJ"[’V Loy
-u;ﬂ;:.dL-Ju”Lf L Zb 37 FUAED L CB: A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each

guestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The number of methods to solve a quadratic equation is: TE P S I iy 1.4
(A) 1 (B) 2 C€) 3 (D) 4
2 @'+ p is equal to: . -4l o + 2
O (B) }:_”515 © (a+B) -2ap @) *+F
3. The discriminant of equation ax* +bx+c=0 jg -5 1 ax’ +bx+c=0_. 3
~ @ b* —4ac ®) b*+4ac ) —b+4ac (D) —b* —4ac
4. f9°0=X1Y e alternando property is: ceed i @ b=x:y 7 4
a_b a_x a+b _X+y a-b x-y
A x B 5 € y L

5. Inaratio a:b, a is called: et afabes’ 5

(A) relation J"T (B) antecedent E.*J:f (C) consequent ("::dfu (D) mean u:!”i
x* +1 | % +]
6. Partial fraction of (x+1)(.x-—1) are of the form. -u’dﬁJf{- ----- w2 (x+1)(x~- ~1) 6
A B A Bx+C A B Ax+B C
(A) x+1 +x—-1 (8) I+::r:+1+ x—1 € 1+x+l+x—l @ "y +me
7. f AC B then A—-B is equal to: et A-BIAC B S 7
(A) A (B) B () ¢ (D) B-4

8. The set {xz’xewaxilﬂ]} is: _‘:—_{II’IE wAxs10l oy g

Y(A) infinite set  2565#  (B) subset rF (C) Nullset sl (D) finite set  Lr(Sts

9. Mean is affected by change in: _;;;._J;f}fﬁﬁb:,.—i_fdg _____ Lldls .9

(A) value =.F (B) ratio =’ (C) origin  &i,/& (D) place .G




] 0 1 0
10. -2—6059545 = 5005&::45 = 10
! 1 5 e
(A 2.> (B) /2 (€) By H
11. Radii of a circle are: Sl ALl 11
(A) allequal sV (B) double of the diameter =
(C) all unequal g 27 (D) halfof any chord & sTeJns%s”
12. A tangent line intersects the circle at: N A— ,C._juuug.,g s

(A) three points ..;L':i?gf (B) two points  zbwas (C) single point ,;,.!z'il.._ﬁ (D) no point at all u:*’f{,b‘;rgf

13. An arc subtends a central angle of 40° then the corresponding d}f/b’};;ib‘?éulq_4ﬂnfsljd}frls’u§uﬂ 13
chord will subtend a central angle of: _ S S Ly
(A) 20° (B) 40° () 60° (D) 80°

14. In the figure, O is the centre of the circle, then angle X is: ____-_.... X ,_f:l}..,}‘:;_.O):rb’a_}l:;rf Jﬁ 14

e

0
(A) 15° (B) 30° (C) 45° (D) 60°

i 15. How many tangents can be drawn from a point outside the circle? ?Uzélg'g J L-’é""_/.::..,.!z‘ﬂ;qgé:e_}l: A5
(A) O (B) 1 (C) 2 (D) 3

17-010-A-¥¢




5.5.C - (Parl-II) -A-2016

Roll No. o Sosh o ( For all sessions ) PaperCode | 5 | 0 | 1

9

Mathematics (Science Group) (Essay Type) Gl’oup-I-n.r:f (£EN (s /) U L

Marks: 60 Time:2:10 Hours ££ 2:10:5%s | 60:
Section -I 2x18=36 Jit o
2. Write short answers of any six parts from the following. 2x6=12 _L{fgf;pmﬁf"&plmﬂg;&;ﬁ&aﬂ
i. Write the names of the methods for solving a quadratic equation. _uf%tluﬁ{ Lo S I sl B
ii. Define quadratic equation. @é-igﬁ@upa.m
™iii. Prove that the sum of all the cube roots of unity is zero. ...r:“..t}f}f.#)‘?. ¥ ..,Jﬂ!;jgru"i{jb’lquqlf
iv. If &, f are the roots of 4x> —3x+6=0, L4x* -3x+6=0=i- B @ i |
then find & — 8 . | g a =B

2 e Ay . i
v. Find the sum and product of the roots of the equation. 2px” +3qx—4r =0 S f"{";‘-"‘.f/’(_}" busler 6 sl sl

vi. Define ratio and give an example. - :Jt‘i'..:"’i,—:!b:.fr—._s:f /“;i,,_,[/._'l;-*:":
vii. Evaluate: w w41 g
viii. Find a third proportional to 28 and 4. ,,@,c}’ﬁ._..wl:ﬁ/f ¥28:4

M ix. Find x,if 6:x::3:5. | .,f:_éF':""x?ﬁ:x::S:Sﬁ,‘
3. Write short answers of any six parts from the following. 2x6=12 _qéfayiﬁﬁfirl:ﬂ{c_éfz_u:dibﬂ
x—2 )
i. How can we make partial fraction of: (x’+ 2) (x+ 3) ?Ufljclfdb:@)ﬁ/{ﬁlﬁ’ i
ii. Define a rational fraction. AP
iii. Define one-one function. -L,j/_.ngJlir"qu_u: A

iv. If A={a,b} and B={c,d}.thenfind Ax B& Bx A. —UI/?'}”BXAJ}IAX.B;Bz{ﬁ',d}fﬂz’i{={ﬂ,b}ﬁ i

v. Define the difference of two sets. SIS L U

vi. If set M has 5 elements, then find the number of bin;ary relations in M. -L,f/'?':l-"‘.&fﬁJJnyJi:fu‘: MIUseb5L "M S
vii. What is cumulative frequency? ' ‘ S L LS
viii. Find range for the weights of students. 1 10,1ﬁ9,84,89,??.104,?4.9?,49,59*103,62 e S
ix. Name two measures of central tendency. _ _L,Tr”lzrtéu Senl sy i
4- Write short answers of any six parts from the following. 2x6=12 -J_.)}f@l;fﬁﬁyﬁflm{c.dfc_ut Jitos
i. Prove that: - cot@.secd =cosecld . <1 4/.:_«;&
ii. Define angle of elevation. ' ..¥.._5;J YASR)
iii. Convert to the degrees. Iz -thngﬁ

8

72

Vi
Vil

Vil

Vi
Vi

Vil

i

ii




iv. Find mZAifina AABC a= 17cm,b=15¢cm.c=8cm. _u_j/?:l” mZA sc=8cm b =15cmea = 17cmU ABCELST v

v. Define chord and arc of a circle. - : -#—’:&1 /UJE:;G:LL}M v
vi. Define tangent of a circle. HL{)"._@}'JJVL;_EIJ Vi
vii. Define central angle. - - _a_g-/_giJ.;‘_:udP} Vil
viii. Define cyclic quadrilateral. ' _@ﬁ&&,u@;v viii
ix. Define escribed circle. -a}ig/%ﬁut{ - .iX
Section -II (222>
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 ...:.d;ﬂg /-‘dirﬁu/ff _..ufz:_.,urﬂ,ztb H o
8 3x°+5 . -
5. (@) Solve the equation by completing square. . 4 — = _J/J’c,&/Jffaf:P (N 5
| 3x+1  3x+1 "
(b) 1f% | B are the roots of the equation 4x” —5x+6=0 Tl A% —5x+6=0 . B.2 J; (o)
| ] 5 1 ‘!
then find the value of o A cxﬁz . 2 ﬂ 33
6. (a) Solve using theorem of componendo-divindendo SISl Ao (L) 6
| | (,1'—2)2—(}:-—4)2 L2
(x-2)" +(x-4)" 13
Sx+4 . '
(b) Resolve into partial fractions: (x=4)(x+ 2) ‘ ...L,fjd’y S5z ()
7. (a) Verify that: A-B=A[B' jf. Ay 3im8 A=B=ANB () 7
U={1,2,34,....10} , 4={1,3,5,7,9} , B={2,3,4,5,8}
(b) Find standard deviation of: 12,6,7,3,15,10,18,15 . _zi;fﬁbf_;r/’?d;gu ()

I+sin@ 1-sind

8. (a) Provethat: - Jestel)  laesind =4tan0secl _ :I&_;{::E () .8

(b) Draw two common tangents to two touching circles of I 3.5x1 2.5uiu£u:}b:f’_.+f";fu';u (»:.f)
radii 2.5 cm and 3.5 cm. ' | - -u:‘-.-'*{va}"/uLuf
9. Prove that two chords of a c:irc.le which are equdistant from the UsdeWiSslac. 2 sl o 215 i':_.i(.:.-:b
centre are congruent. OR_ | | L_ HJE_YJLP( L
The measure of a central angle of a minor arc of a circle is double u"ﬂﬂ,.-:f;d):r'ﬂlsa*_.::..u/“'l,f:’u"f__fbdr
that of the angle subtended by the corresponding major arc. L trlf.w:_,;luﬁ ol dian iy

18-010-A-
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'}A.i' 'iﬁ( S.5.C - (Part-Il)-A- 2016

Rﬂ'llNO._____________________f_/’z:};h{-ff ( For a” SeSSiOrIS ) Paper Code 7 1 9 4

Mathematics (Science Group)(Objective Type) Group-II- ';-'J/f (Lf:’:/»)(.,:...sfufu)d’ LJ

Marks: 15 Time: 20 Minutes &4 20:23s 15:
/:‘Ulfw__:;qls’qfﬁr - ‘yJJfofﬂu}-rpggé_JD;ﬁ,C,B,Aagiﬂéﬁyeﬁdfﬁ/gEﬁggégdfﬁu%&/"(_?’d);i_.f.p’.’éi..:Ufrr{;h.".f;
' U Y SN 32 s LD | CBe A 37 L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The different number of ways to describe a set are: . — amf.w"(fu;é')ﬁié_fwg:ﬁf 31
(A) 4 (B) 3 (C) 2 (D) 1
| 2. 4S8 thenABis equal to: | byl A-Bly ACB fi 5
(A) A (B) B () ¢ | (D) B-A
3. The solution set of equation 4x* -16=0 is: _+¢5J°K 4x* ~16 = 0en 3
@ 4 ® 14 o ©) *2

2 . _nA. . 5 2 . N
4. If a"ﬂ are the roots of 3X~ +5x—2 = Othen @ ﬁISI _i\*“__a:'.f_a-l_ﬁfu.wu"‘u{_/ 3" +5x-2= U /3. Y4

5 3 5 -2
(A) 73 B) % © 3 0)
I 1 - | .
5. & ' pisequalto - S LPANIN:
i ] (I 5 - a-p a+ f
(A B o p ©) ap D) 45
6. Inaproportion a:b::c:d, aandd are called: HLELManaJ a:bicidt B
(A) means u“”: (B) extremes u-‘-’)’ (C) third proportional w1~ (D) fourth proportional - £
a c¢ ) a c¢ .
7. IfE=E,then componendo property is: ' -;‘:..;w:-{__..f}}x};zgﬁ o
a ¢ a ¢ lqi a-b c~d
A a4b c+d B a-p c-d ©) e U d
x*+1 L X+
8. Partial fractions of (x+1)(x-1) are of the form. -.-.;_d:fd?’__“_;/d:z‘f(IH)(_\._]) 8
A N B i A Bx+C 14 A N B Ax+8+ C
A x417 x-1 (B) x+1 x-1 © i1 X B i1 T




9. Inthe figure, O is the centre of the circle, then angle X is: il X ,:JU-..;J;T-O}E!’K{_.}EJ(F 9

N

(A) 55° B) 110° () 220° (D) 125°
10. How many tangents can be drawn from a point outside the circle? ' ?{,"rril;g Juﬁa.,h‘ilqi,zi;_ 7y .10
(A) 1 (B) 2 (C) 3 (D) 4

11, The measure which determines the middle most observation in a data set is called: -tz b dlnilrRokid 11

(A) median _l-s (B) mode wk
(C) mean mrQu (D) harmonic mean J,;,i_&fﬁ

12. ftan@ =~/3 , then & is equal to: O intan0=+3 f 12
-[A} 00° (B) 45° ) 60° (D) 30°

13. Through how many non collinear points a circle can pass? ?c‘:.t.rf;;.mf /_-fz:_’ o 13
(A) one S (B) two (C) three & (D) four b

14. Two tangents drawn to a circle from a point outside it are BLJLJI,JJV&@‘;;;.J;?J; e s Ll 14
of in length. . 0 o 2
(A) half 4 (B) equal i« (C) double b3 (D) triple L

15. The chord length of a circle subtending a ceniral angle of 180" is always. -JﬁJLJJP:E" L[;:‘IBDB,_,,:FJLS}}}sE’f_.}J;ﬁ A5
(A) less than radial segment ((.:,L)’Lu (B) equal of the radial segment Azl

(C) double of the radial segment /5612 (D) triple of the radial seament /L2 KU1

19-010-A-3T W



S.8.C - (Part-II) -A-2016

Roll No. e S ( For all sessions ) PaperCode | 6§ | 0 | 1 | 9

Mathematics (Science Group) (Essay Type) GTUUP'H'&,-*J f (=) (,_r,fu—'ﬁ,) (fﬂ L J

Marks: 60 Time:2:10 Hours &£ 2:10:=% | 60:
Section -1 Zx18=36 Jli’l,.b
2. Write short answers of any six parts from the following. 2x6=12 -u:/:rfaygf"'ff_n;zrgc,dfw_uf J:,if-,.u 2
i. Solve by factorization: x'=x—-20=0 . . _.“f_ﬁa"'d ;fh,.gu.@ |
ii. Write in standard form of quadratic equation: (x T 7)("" - 3) == _uf’gu: fLE;_Lyf.;A:Lf&m: i
< | 2 :
iii. Find the discriminant of the equation. X" =3x+3=0 _a:,iFMJ;'fJ;KmL» i
iv. Write the quadratic equation having the roots: -1,-7 _’qf’q.:f.sbf&m:;.u?u:f{_.; AV
: . . . : [,qﬂ . ,.l I,J_,_,"'J [-7( ;
v. With out solving equation, find the sum and product basls r’*b Pl tile
of roots: . _ x* +4x-9=0 _L{/r,l;»_ﬂ,:a
7 1 -
vi. Evaluate: (1—14’*1’1’2) -g{cﬁ’”‘;{ Vi
vii. Define inverse variation. _ -u:/h_-_"-‘?/’TJJJGAAg Vi
viii. Find the fourth proportional of 8,7.6. _%JL"L_.«#D“E&;E‘&?,B viii
ix. If ¥ varies inversely as x? and y =16 when x =35, then wx=5_2y=16uus>F Lt 2 mY N ix
find X when y =100, | _a--_y=]0{]f¥(:b":jd/x?

3. Write short answers of any six parts from the following. 2x6=12 -/ ;Llfﬂiif’fiﬁ?&-d}(:-{_ﬁdjz,rﬂ 3

.. Define an identity equation and give an example. HL,::JL‘DJ:IL{/».&I/?’J.:JV |
ii. Define fraction and give an example. B - ¢ -:,:‘f f/"._f:/ i
ii. Find a and b if (2a+5,3)=(7.b-4) S basa i
iv. What is meant by binary relation? E‘f‘.-._:r/gf;;_ @;JL—? v
v. Find range. 110,109, 84 ,89,77,104,74,97 ,49 59, 103, 62 Jlper v

vi. 1 X =1{2,4,6,........,20} and ¥ ={4,8,12,....... ,24'}_ aY={4,8,12,.......,24} 4 X ={2,4,6..........20} /i i

then find X' -V . S X =Y 5
vii. If L={a,b,c},M={3,4}, find two binary relation of LxM. - _&_?-F:L"‘Jyfudl;'u&LXM?M={3,4}rL={a,b,c}/fl Vii
viii. Define variance and write formula. _L;:."GLJ:UE;;ILZ)’...&J /"'J..-;g 2 viii

ix. Define measurement of central tendency and write two measures of it. -w.“’?t&u:‘g;;;é.fﬂlq/héﬁaf;géu15’-45 I



B A . . o

4- Write short answers of any six parts from the following. 2x6=12 -q&fagfﬁﬁﬁf!;ﬂg‘;Jf:..u.‘."_!j@u -4

i. Convert 5—;‘ into degrees. _u_’fd_“.xﬁufdﬁf% A
ii. Prove that: tan‘ @+ tan® @ = tan? @sec? 9 Sk i
il. Find the value of "r" when: 6=45" , {=52cm B Ly Sl S i
iv. Define the right angle. | -Lg/hyﬁ&_,du,fs AV
v. What is meant by non-collinear points? ‘e e LEBAS v
vi. What is meant by secant of a circle? ?.:-_;l,,rl_ff:,aid’ F .vi
vii. What is meant by segment of a circle? ?q_:Lr'{_gC:_nfhﬁfg Vi
viii. Define circumangle. Tl viii
ix. Define circumscribed circle. _L,_J_’fu-sl{/?Td;flJn/"’U' X

Section -II r',u,..:'a}
Note: Attempt three questions in ali while Q:No.9 is compulsory: 8x3=24 _-+djﬂsﬁdif.éq&f¢4f££.:.fﬂlrcff R |

x—a_ x+a 7 _aﬂg.f_j"[,_:,r,p () 5

5. ..(a) Solve the equation. =
(@) Solve the equation e e 15

(b) Prove that: ¥4y’ = (x4 y)(x+wy)(x+wy) e (L)
6. (a) Solve by using theorem of Componendo-dividendo, _.'L._'_E-ZJ’L::;T_/UL-H = ‘fu,«f 2 (L) 6

(x_zf -—(x~4)3 12
(2-2) +(x—4) 13

Tx—25 .
(b) Resolve into partial fractions: (x— 4)(x-3) SIF S5 ()
7. (a) Show that:(4U B) = A'N B'If U=N,A=¢, B=P fi(AUB) = ANB LSt () 7
(b) The marks of six students in mathematics are as follows. 6;_Lg»ugqjé,;:/:}n;xﬁ‘lpu:ﬂ;£urlf,.JL!»{ - (1._.«)
Determine standard deviation "S", - -@F:J-”"S”._iff'l
Students  ,LP 1 2 3 4 5 6
Marks i 60 70 30 90 80 42 -
8. (a) Find the angle of elevation of the sun if a 6 feet man ST LB LLGeEm e sk () .8
casts a 3.5 feet shadow. : e 335 LK
(b) Circumscribe a circle about an equilateral triangle ABC with L 1/_ay fl:f.aff.:fw ABCaLf koyigsl- (o)
each side of length 4 cm. S d 4JPA'J d’ff

9. Prove that two chords of a circle which are equidistant from the centre UstdeiSolac L2 2l 2o, Jl=t .9
are congruent, OR L _uglﬁfu"—‘r‘?g

Prove that any two angles in the same segment of circle are equal. _L,{_?L!T.EI.J.T(*' gruﬁﬁiudu}fuﬁ:ﬁ..ﬁm:.ﬂ}f .:“,?C:fL

20-010-A-



'k o S.S.C - (Part-I)-A- 2017
RﬂuNG-___,ﬂ_____F__,__'__'_r-'-/i!f’ﬂ!gi , ( For a“ seSsiﬁns ) Paper Code | 7 1 9 1

& - : ; _ &
Mathematics (Science Group)(Objective Type) Group-l- .,'.-:/ (J‘}/“)(.,r..-;fu’" V) U‘ EJ /7
Marks: 15 Time: 20 Minutes 24 20:H 15'-/1,E =
' Q¥R _-;f.u_,.—ff.,,mu’-:bgéé..;w,G,B,A..—_,y,g.-,ﬁ_uﬁdlm z;e‘éqmr,zu:%/#d"d;_-,n,lzé’_;.,UFfru":.:.,}

‘ _J_‘;,é.:,wwaﬂﬁfﬁ_;uwaﬁ LD L CB AL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C &D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

" question with Marker or pen ink on the answer sheet provided.

1.1. The number of methods to solve @ quadratic equation is: T 5 )’LL)U’[;J;L#J.;::: 1.1
(A) one £l (B) two s (C) three o (D) four b
5. o'+ B s equal to: - e a’+ ﬁ_z 2
o @B (®) ?iﬂ)% o (@+By-28 @ “*F
3. Roots of the equation 4x* —4x+1 are: | -L,ﬁujyﬁ 4x* —4x+1opr 3
(A) real, equal (Fesz  (B) real, unequal Pk (C) imaginary SO () irrational /2
4. If%=%=k,then: -?2”:%:’(}7.4
(A) u =Wk’ B) u=vk | ©) u=wk | D) u=vk
E jfa:b=x1y then invertando is: | | _.—‘;,Moj?ﬁﬂif")‘:x:}’ﬁ.s
. a_b a _ a+b _x+y by
A x oy B) g-b x-Yy C) b y ® 7 x
2 x+2 x+2
6. Partial fraction of (x+1)(x2 +2) are of the form. YTl e 678 (x+1)(x1 +2) 6
A B A Bx+C Ax+B C A Bx
(A 741 P42 B) %+l x+2 © xil A +2 @ T4l P42
7 The number of elements in power set of {1,2,3} is: —c‘-aﬁ:fﬂ’-Jwb{ﬂc‘:d{ﬂ&L{" 23} .7
(A) four /b B) six £ ©) eight 27 D) nine §
8 If A and B are disjoint sets, then AU B is equal to: _ -.:::_-JU.’ AUB ?Um:.fJ }“’}{ B;:TAﬁ 8
(A) A () B ©) ¢ | o BUA |
9. The extent of variation between two extreme observations of a data set is measured by: -U¥ gfﬁ)é::.u.»&qﬂ&wu/ 9
(A) average bl (B) range = (C) quartiles ,..EJJL;?__ (D) mode »k |
10. The union of two non-collinear rays,which have common end point is called: _.:g.btkfﬁsf bﬂﬁJ}“/y_ﬁﬁ’&ufbﬁbﬁﬁ/fn 10
(A) an angle sl (B) adegree dﬁ - (©) minute =~ (D) aradian S 4
" 4141. Line segment joining any point of the circle of a centre is called: - -.;.rmr,g_uf}fzc..bﬁf Lo
(A) circumference %3 {B) diameter )5 (C) radial segment A951y, (D) perimeter par
" 42. A circle has only one . . ..r;_t:rf..--..-_w..ﬂ_ifﬁf_,ﬂ:_g 12
(A) secant (‘f’ 545 (B) chord 7 (C) diameter y (D) centre )}
13. A pair of chords of a circle subtending two congruent ‘ ﬁfu;ruji:.u:}:::&drslidfrj L7 13
central angles is ? - D 1Y ] -
(A) congruent S (B) incongruent Ji=#  (C) overlapping Ay (D) parallel ¥
14. How many tangents can be drawn from a point outside the circie? - ?ugitg_{_f Jvﬁaﬁﬁyﬁg,‘ﬁb 14
o (A) one I (B) two (C) three o (D) four Jb
15. How many common tangents can be drawn for two touching circle? ?ugilgé__t».u’ Lf_f/"f’ﬁfﬁu.s}bi.ﬁi./u’?: A5
i (A) two  » . (B) three & (C) four b (D) one A
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S8.5.C - (Part-IT) -A-2017

| &
"_‘f..r-"

Roll No. o« Srdind ( For all sessions )

-

" Mathematics (ScichceGroup) (Essay Type) Group-l-a.;-:/ (::EJI)(..E__,,,U‘L) Lf‘ &J

" Marks: 60 Time:2:10 Hours &£ 2:10:e% 60: /7
o Section ~I 2x18=36 . Ji’l,.-'b |
' | Write short answers of any six parts from the following. 2x6=12 -L,_f/f;f;yﬁﬁ?ﬁfizqﬁéfc.bﬁi}&» e
i. Solve by factorization: 5x* =30x _'gd’d;fn.g_u.} {
ii. Define quadratic equation. -ég(ué‘;tfai;uﬁ;;:: i
iii. Find the discriminant of the given equation: 2% =Tx+1=0 -éﬁ-?ﬂ”;ﬂjﬁ?gl;b»&ﬁd; il
iv. Without solving, find the sum and the product of the roots | E u&:@ﬁéﬁgﬁfahb&mﬂ& v
of the given equation. x*=5x+3=0 | _é_'_,fg:l”‘__.r/"’d" b
\.. Write the quadratic equation having roots. 4,9 _Eﬁ’ghz!;u&ﬂ,uzf {Roots}ﬁxﬁé___; RY
vi. Use synthetic division to find the quotient and the s ot nl S i
" remainder when | (x?' +?x—1)+(x+1) ...._..::’:}F:""dh;
vii. Define ratio. _zﬂajfiﬁ’:ﬂi vii
viii. Find X in the proportion. | 3x-2:4::2x+3:7 _a_ﬁ;':"".:..fJx Unerte Vil
ix. Find the third proportional to 6,12. %ﬁ”gb‘&f&’ﬁ,ﬂ X
3: Write short answers of any six parts from the following. 2x6=12 -qéfayﬁﬁ”'&r;zfg:_df;.u:J_'sc-,.u 5
.. What is meant by improper fraction? : ‘ ?g/fajfl_"f/h_aalj/é i
.= ii. How can we make partial fractions of x2]—1 ? _ | m&%&%}d/d:m{ le—l i
i, Find A-B, if: | A=(2,3,5,7} , B=(3,5 8} S o AB i
‘biv. Define intersection of two sets, _L,_rf_y /"'J cb B U v
v. Find BxAif; A={0,2,4},B={1,3) S S BrA v
vi. Find Domain set and Range set if: R = {(1,2),(2,1),(3,4),(3,5]} Ao Jper Gusirtss i
vii, Define median. - U IS s i

viii. The marks of seven students in Mathematics are as follows. (}Lﬁtﬂfﬂﬂ_u{;uf jg;ﬁn;é_/:;ﬁd ga_g;..;‘_u,}f__,!w.:,lf Viii

Calculate Arithmetic Mean. 45,60,74,58,65,63,49 b
ix. For the given data find Harmonic Mean. 12,5,8,4 _q/'f':l”bf:fu@'i}‘?@fﬁ?fé_; X
4- Write short answers of any six parts from the following.  2x6=12 S fe N L 1g e (e S 5Ts -4
.i. Define radian maasuré of an angle. - _.;{-"._gf"u: LAl i
ii. How manv minutes are in two right angles? ?Lgé_xui:’ Z{,ﬁu,fjljfy’[?u i

- ?T & sms
iii. Convert I radian to the degree measure. . _e,i:;fgu:dfifqyﬁ i
® 4




iv. What is meant by projection of a point. ?;‘:_Jf/i_.ﬁ:.. &£ﬁ4 v

v. Define a circle, - ,4:.@/3&5!; V
vi. Define secant to a circle. _g;r}@d’ l.'s‘rf..i_.}b..g Vi
vii. Define circumference of a circle. | -éfié’ﬁ(ﬁ:fc‘ic_fb Vil

viii. What is meant by central angle of a circle? Sl ST P L0 s il

ix. Construct a triangle with sides 3cm , 4cm , 5cm Ul gJJ t,ufbiiu’-fl:f.w_ﬁ X

Section -II r»,.;b

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -,H;;uaﬁdwﬁq&;’mm&mwﬁ& L
: 1 1

5. (a) Solve by using quadratic formula. 5x2 =Txt -2 SIS LI E et (B) 5

(b) ¥, B are the roots of the equation x* + px+qg=0 ?u::ujmf. x* + px+q=0.nB.2 ) (u.,v)
: 2 2 - F
then form an equation whose roots are @ NS5 , ﬂ’zaﬁz J b::,f;uc;pd;affé_;
6. (@) Solve by using theorem of componendo-divindendo | _J/J’in_/dwl:.-ﬁdfii\,{ s (L) .6

(x-2)' ~(x-4)" _
(x=2)+(x-a) 13

9 ;

(b) Resolve into partial fractions: ( ¥ — 1)( Y+ 2) - ..L,_’jfdf"‘ Jn? e (._:_,,)

7. (a) Provethat: (ANB) =AUB' it Sy /348 (ANB) = A UB (I .7
U=1{1,2,3,4,:......10} , 4={1,3,5,7,9} ; B={2,3,5,7]
(b) Find standard deviation "s" of the data. 9,3,8,8,9,8,9,18 ,_%,w_.;uﬁg@w ()
| 1 ] 2

8. (a) Prove that: | W +1+c059 =2cosec” 0 !J’E“.?(:«:b‘ () .8

(b) Draw two common tangents to two intersecting circles of Z.L-,flr,_jj(“ an” 3 Ui wi /| (f.’;.s (,__,,)

radii 3cm and 4cm. iu:f:'{!’i.f.fjj’}: |

9. Prove that a straight line, drawn from the centre of a circle to bisect a chord (§! (ﬁ;ﬁz)};o{-_.y}cﬁ;fu’ife_,{ws

(which is not a diametre) is perpendicular to the chord.  OR b by ctsaBund S
Prove that the measure of a central angle of a minor arc of a circle, is ;lﬁ*ﬁ;!jd}f«'ul:i.;aﬁ‘thﬁ.;fI:Jg/l’:}:v.E
double that of the angié substended by the corresponding niaj:::r arc. _%tﬁw?;::zrjijj:‘finﬁ/d ;";.Eh‘?;j_:_ e

18-010-A-49000




** S.S.C- (Part-I)-A- 2017

Roll No._ e St ( For all sessions ) PaperCode | 7 | 1| 9 | 4

e e S B B T e e

Mathematics (Science Groui:.)(Objective Type) Group-II- --'5/ (u"f./*)(_,sfu:'"v) ‘f LJ

Marks: 15 Time: 20 Minutes &> 20:=% 15'/"
At 612 e Wizt £4-5D41,CB Atz L e 38 doetnl ety ind
_J:/c,wulfwLﬁnfd.,fu,w.:.u:uwio | C,BAszelL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1."A circle has only one: 7 — Lid e S0kl 1.1
(A) diameter & (B) radius (T (C) chord 7 (D) centre /ff
2. "The length of a chord and the radial segment of a circle are congruent, & rt e IS e Ll 2
the central angle made by the chord will be: gl - —— S0
(a) 30° (B8) 60° (€) 90° (D) 45°
3. The circumference of a circle is called: ...r;_.t'll:@f%_fl; 3
(A) chord s (B) segment ¥ (C) boundary (D) diameter &
“ 4. How many tangents can be drawn from a point outside the circle? “Jc‘fbf JVJLMJ;LLLJ-I: 4
(A) 2 |) 3 (C) 4 - (D) 5
5. The linear factors of ¥ —15x+56 are: Y o) x* —15x+56 AP WITTIR
@ (=7 ana(x-8) (g (x+7) and(*=8) ¢ (=7 ana(x+8) oy (x+7) and(x+8)
6. Product of cube roots of unity is: _f‘-_h‘.-ﬁd' bKJI;jf.J_’.JKI B
- (A) 3 (B) 0 (€) 1 ; | (D) -1
7. f& B are the roots of pxj +gx+r =0 then sum of ?un'uj.uzﬁ p.vt:2 +gx+r = 0wl @ ﬁﬁ A
- the roots of 2@ and 2/ is: -g..,.;r": ¥ 20 512a
T | 24 L _ 9
G B) ", © 5 0 3,
8. Find X in proportion 4:x::5:15. _%;b’xu.‘:-ﬁl:x::S:lS —t .8
(A) 75 (B) 60 (C) 20 (D) 12
9. Ina proportion a:b::c:d  aandd are called: i dsafazbicid € 9
(A) extremes uf-’)’ (B) means (,:"’: (C) fourth proportional —-¢#2 (D) third proportional e 2
10. A fraction in which the degree of numerator is greater or equal to the degree u_!:}ﬁ..dfju( 0] fdﬁ&ﬁﬂiﬁufu%/ 10
of denominator is called: _:;_JLI«.»C:ML:},
(A) a proper fraction /’;.::l: (B) an improper fraction /.,ef:/.-f
(C) an equation  =lsle (D) anidentity =il
11, The set {x/xewAx <100} is called: ety {x/xe wAx <100} op 11
_ (A)infinite set x5t (B) subset 2 (C) empty set &l (D) finite set L5
12. If R={(0,2),(2,3),(3,3),(3,4)}, then the domain of R is: -.4;.‘..JJ’:’%HR?}’ER:{({],2),(2_,3.},(3,3),(3,4)}/"' A2
BTNV (B) {0.3.4) (©) {0.2.3} (D) {02.4)
13. The most frequent occuring observation in a data set is called: -‘Lﬂmﬁpdls.—i,ﬂ:/up:.q‘jﬂ:’f A3
(A) median sl (B) mode b
(C) harmonic mean Lx:Lf;Tf‘T (D) arithmatic mean JﬂIL}L-?
_ 14, Iftan@ = JST . then & is equal to: BvsO03ntanl = \/5 f; 14
(A) 60° (B) 45° (c) 30° (D) 90°
.15 A complete circle is divided into: | _.‘g.,lrlgt,._f(‘:'iJ j:—_.}l:'_}‘( A5
(A) 90° (B) 180° (c) 360° () 270°

19-010-A- W
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~_ S.8.C - (Part-11) -A-2017

Roll No. i ( For all sessions )

_ e
_Mathematics (Science Group) (Essay Type) Group—l]-nf.!/ (2 L'?Ji)(uifjfuf L) U‘ LJ

Marks: 60 - Time:2:10 Hours g2:10:u=5.r 60:/1}
) . Section -I 2x18=36 dfif.b
2. Write short answers of any six parts from the following. 2x6=12 -J_/;fay!ﬂﬁﬁflzf{c.éfaptijw 2
. Define reciprocal equation. _a_'_;f-f...y/"'gfa.rhpuﬁ i
ii. Solve: | V3x +18 =x JAL i
iii. Define synthetic division. AT i
. 3 % .
iv. Evaluate: - (9 + 4w + 4w’ ) ._':i.,_'jf-r:"’:..f v
v. Witheut solving, find the sum and product of the roots of the A Imi,;ff&)%;,éfédﬁ&hvd;m V
: : ' 2 ) ;
quadratic equation. px"—qgx+r=0 " "q_.i’-?'}"‘..,ﬁ
vi. Write the quadratic equation having the roots. 2,3 -gg.;-.,uw’.m_- { _)'?Uf:ﬁé-) i
vii. Define proportion. . _&:,ir...gf/ja,fb_-fl:? il
viii. Find the third proporticnal to a° 3a%, _,»:_{ et 2 a> , 3a° vii
ix. Find the value of P, if the ratio 2p+5:3p+4 and 3:4 are eaual. _um:iﬁ:4;af2P+5:3P+4u:'“ffff¥F}V.:#f (P ix
2. Write short answers of any six parts from the following. 2x6=12 -quf.:-.;l,mf'?&prmgLJ!;,‘,:J_JM .3
i. Define a proper fraction. | ' -%;E;f f‘.;.ﬁ'c!J N
: X=2 )
1i. How can we make partial fractions of: (x+2 (A. n f;) ?Lgéﬂ@dhf,)gf;/dﬁ: i
iil. Define a function. | BT AS
iv. Find A, if U={42,3.....10} , 4={2,3,5,7) Aedebrp iy
v. Find a and b, if | (2a+5,3)=(7,b-4) YL busa v
vi. Find LxM, if: - | L={a,b,c} , M ={3,4} Sicko L i
vii. Define median. _:-':;-/._@/"" f;:w.f,- Vi
viii. Find the arithmetic mean for the given data. ~ 12,14,17,20,24,29,35 45 L AL A Y

—

ix.- Write formuia of Harmonic mean. | _gqifJggbjn_éfr‘? i




4- Write short answers of any six parts from the following. 2x6=12 -L{)}feyﬂﬁ?ﬁplm{;gfgddj&,.u -4

i. Define an angle. _Efigﬁéjlj i
ii. Convert 12°23'35" to decimal degrees correct to three decimal places. _uf{ffxl:-‘fl,_wufuidfi,ﬁﬂf 12°23'35" i
sin’ @ - '
iii. Prove that: +cos@ =secl | Zf«":-i:'-—# i
cosé T
iv. What is meant by projection of a point? ?;:_:ykfcﬁﬁbgﬁb’.b‘ﬁgfr AV
v. What is meant by collinear and non-collinear points? ?g.:y_bfaLE?ﬁﬁ/fﬂlw?b(‘? RV
vi. Define tangent of a circle. | _Zj-inyJUL.;_}l; Vi
vii. Define chord of acircle, | : ...%:.éjj"l,(}:f_r_}h Vii
viii. Define cyclic quadrilateral. . | ..&_g:.éj/:"d:rf!;._ﬁffv Viii
ix. Define escribed circle. _&_:,i:.g_ij"'&ﬁbgf b .ix
Section -II [‘:J,.:b |
- Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 - U8 Ay Sy fe il i E S as
5. (@) Solve the equation. 2x+5=7x+16 -aﬁ;"fmu () .5
* 3 3 : 2 I 2

‘6. (@) Using thesrem-of Componendo-dividendo find the value of X _ ..:’_f_..i?':"’-.::éJ xLﬁLdeIMMJ (A1) 6

(x-2)"~(x-4) 12
(x=2)" +(x-4) 13

7x-9 .
(b) Resolve into partial fractions: ( Y+ 1) ( x=3) NS I (&)
7. (a) If A={1,2,34,56),B={2,4,6,8) and C={1,4.8}, | 1IB={2,4,6,8}A=(1,2,3,4,56)./1 () .7
then prove that: AN(B UC)=(AHB)U(AQC) :Ifa_é(-.-.»;e?ﬁc;{1,4.a}
(b) The marks of six students in mathematics are as follows. Uit/ Iﬂ,tu"_g;é:u:)‘._ﬂbg ()
Find the variance. | ~ 60,70,30,90,80,42 | S F
o P S 2cosec’d | | :
8. (a) Provethat: 1—cos@  1+cos@ Sy et () .8
(b) Draw two perpendicular tangents to a circle of radius 3cm. _u:,’:'?:flffdjﬁué_’..;_}w_uwyf 3 (&)

9. . Prove thata straight line drawn from the centre of a circle to bisect a (i (,;_:/hi'g)},u’( c..)?él.—:d;?!;u’:@/..:{t‘ 9
chord which is not a diameter is perpendicular to the chord.  OR L | _.;.t'mrﬁ;;}:riﬁ;ﬁ?m:é_f.i}?
Prove that any two angles in the same segment of a circle are equal. -t sl gcuﬁé e B Line 5 ne (i "4_5;-:&

20-010-A-34500



* 7:.7 | $.8.C - (Part-I)-A- 2018

ROuNO._.__,,______________r_—&_!fﬂsgf ( For all SBSSLiOHS ) Faper Code 7 1 9 3

Mathematics (Science Group)(Objective Type) Group-I- ;;.,;f (u".sf")(.fsfu:’v)(j‘ LJ

Marlks: 15 Time: 20 Minutes .22 20:2% 15!/:’;
A 3820 eon Wzt £ 25D C B AR L iy éﬁid@lﬁﬁfﬁfdjayﬁﬁ.:.foer?:d.J
| S e SN 3 EUsED | C B A sz Ll
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in-front of each
. question with Marker or pen ink on the answer sheet provided.

1.1. The semi circumference and the diameter of a circle both subtend a central angle of: _%t'}mjfjdy:fgjzf_iﬂ:’éf__}b b 1y
(A) 90° (B) 360" (€) 270° (D) 180°
2. Angle inscribed in semi circle is: _.:'..':':f,:su,rr""uigﬂ:...iﬂ'f 2
/4 b Vs
G B) = © 3 © 7
3. How many common tangents can be drawn for two touching circles? . Sut2Ebz bWt =2E L st wi S s 3
(A) 2 | B) 4 (C) 3 (D) S

.2 y - - % " "
4. The number of terms in a standard quadratic equation 84X + bx+c¢ =0 *.:‘-..Jw’d/uﬁzd ax* +bx+c=0 =il 4

(A) 1 (B) 2 (C) 3 (D) 4
5. Roots of the equation 4x° —4x+1 are; ;L,{;u:fuﬁ 4x* —4x +1 e lls 5
(A) real, equal siz(>  (B) real, unequal 44t(> (C) imaginary (B (D) irrational (Pt
. 6. 1% 5 are the roots of 7% =X +4=0then & . ~c sl aﬁ-ﬁuﬂu‘lxi T’ =x+4=0o4,.%8 f 6
1 T —4 ;
(A) 7 (B) 4 (C) 4 D) ~
7. Inaproportion a:b::c:d,p and ¢ are called: ) _L,ELML*;:I bu:a:b::c_:d..,.mt'«‘ 7
(A) extremes u-‘-’) (B) means p:”’; (C) third proportional 1,2 (D) fourth praportitjnal — 2
u v ' U Vv
—=— =k . g—=—=k
8. If == —=k then: = i S
(A) u=wk? (B) u=vk’ (C) w’ =k D) u=vk

9. A fraction in which the degree of numerator is less than the degree of _%Jﬂfcxf;dﬁgf@fdﬁ&.dﬁ?&f/ 9
denominator is called: '
(A) an equation =bl»  (B) animproper fraction /‘I._.-?f/:f (C) proper fraction /.._..-al.a (D) an identity =

10. A set with no element is called: -g.tﬂfcﬁ;dgdfufuzq 10
~ {A) subset _.wu; (B) empty set 2rb (C) singlton set H,);'CC (D) superset &ur
- 11. If number of elements in set A is 3 and in set B is 4, then number Ju)ﬁ:ffu:ﬁLKB;f!’E‘iu:BMA.!BJUJEJ::JKJIU:A..L‘{:‘)FI 3
of elements in AxB is: | | ..tg_(jmw"
- (A) 3 (B) 4 ) 7 (D) 12
12. The measure which detemines the middle most observation in a data set is called: _ff_tll;-ﬂé.hm&ymﬁlrﬁ;g,wl 12
(A) median - (B-) mode b (C) mean L~ ('D) range <>
13. secfcotb s equal to: |  —equseclcotd 43
(A) sin0 (B) cosd (©) 511]1{9 ) m]s..e |
14. Right bisectors of the.chord of a circle always pass through the: i @Lzﬁﬂdﬂtd;ﬂ’_}:&;}h 14
(A) radius (Jlw (B) centre )} (C) diameter /—5 (D) circumference L# =
15. Tangents drawn at the ends of diameter of a circle are ____to each other: _@Lﬁ_,-_uﬂ:ﬁfubféféuyéﬁiz_}u 15
(A) parallel Ji1# (B) perpendicular s* (C) non parallel d.:rl?/f (D) collinear L34
17-010-A- 7%



S.8.C - (Pari-II) -A-2018

Roll No. o S - ( For all sessions )
' &
-Mathematics (Science Group) (Essay Type) Grnup-l—..fsj (.5 t‘il)(.?,;fur"l/) U‘ LJ
_Marks: 60 Time:2:1¢ Bours &£ 2:10:=% 60: /%
. Section -I 2x18=36 Jilo
_2. Write short answers of any six parts from the following. 2x6=12 _q):rf:,gmﬁ:’&lmg;&f;adj@a 2
« i. Define radical equation. | _a_é'/_éﬁfJ;f:pd;Jg .
] ] .
ii. Write in standard form: +—=3 ,ufgu.‘. fdx?f;f:u i
- x+4 x-—-4

ii. Define synthetic division. P i

iv. Discuss the nature of the roots of the equation. x*+6x-1=0 _gﬁgrﬁﬂﬁ;ﬁaau AV
v. Find the discriminant of the equation. 9x% ~30x+25=0 _&}ZF}”MLG)K:.J;LJ V

vi. Evaluate: (]—w—-wz )? _c__,iF}"‘.r.«f Vi

vi.i. What is meant by direct variation? 'E‘.‘:_:I,rl_f'/a:—__yb,:"j' Vii

viii. 1f3(4x~=5y)=2x-7y, find the ratio X: ¥

L X1y 2033 (4x-5y) =2x =Ty A i

ix. Find the fourth proportional of 5.8,15. | %Fjb’glﬁb?gﬁ'ﬁ,s,‘ls X
3. Write short answers cof any six parts from the following. 2x6=12 -L;:/.g’/:::pﬁ;{{:flzr.fﬂ—é;&-L;(_Z.;E'/J} i
T . Define a rational fraction. - ' ié_,.{_ng/Jbt i
'ii. Resolve into partial fractions 1_21_;] 7 , _r_:,{d'f; uh/d;;zf = S i
{i. Define intersection of two sets. S S L Ut i
iv. Find B', if U={1,23,.....10} , B={3,5,8} :ﬁ&_é?:*’f B v
v. Find a and b, if: (a4,b2)=(2,1) Syl basia v
vi. Find YXY if: Y={-2,1,2} :ﬁ’q_iF:l”YxY vi
vii. Define Arithmetic Mean. | _:‘E_E-K..éf/"'JMrL}L? Vii
vii. Find Harmonic Mean for the given data. 12,5,8,4 U LT £ vii
ix. Find median: 82,93,86,92,79 -%ﬁguw ix
4- Write short answers of any six parts frﬁm the following. 2x6=12 -L{éfayﬁﬁr’zpw{;&ﬁ;wdjeu -4
i. What is meant by quadrartal angles? el Ve e slily i
ii. Convert 25°30" to decimal degrees. | | _é&ﬁddﬁf;ﬁﬂf 25°30" ii
ii. Find @, when: | (=45m ; r=2.5m Lkl g i
fv. What is meant by projection of a point? ?;;_Jyg;_,:ugdf 65 iy
v.- Define circle. _ ..%?K_é-'/?&fl: V

vi. What is meant by length of a tangent? | ?{_;yl_g::..JHJJ W i




L m WY L e —

R L R

vii. Define sector of a circle. | _aﬂfig fJﬁPch_}!: il
_agf.gf&,ﬁg,,@fp ii

viii. Define cyclic quadrilateral.

ix. The length of the side of a regular pentagon is 5cm, find its perimeter. _a_'iF,b%fwnlL(ngJ é"é/r“iﬁ ix
Section -II AL (92>
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 _g_ﬁjﬂa/:}dlr.ﬁp:)}f::I_.I:?Z..:.«Ulfuff Wy
5. (a) Solve the equation. Jx+3=3x-1 " aﬂéﬁ!’)’:ﬂm«- (.4) 5
(b) HZ B are the roots.of the equation 4%’ -5x+6=0, ?uﬁu:};/_". 4x* =5x+6=0=h-B. & ) (1_._,,)
. o’ ﬂz "
then find the value of “B‘“‘"? ] /?‘:{”'..:J,,
6. (@) Using theorem of componendo-dividendo find the value of: u%#&éé—ﬂifdwl&fjﬂgf}ﬁ () .6

sz +8p° _sz - p’ _1
2 +8p* 4y —p* 3

9 .
(b) Resolve into partial fractions: ( ¥ — 1)( S 2)2 _gf}.:b' e’ $s7 (I-:‘-')
7. (a) Verify that (B~ 4) = B'U At S(B-4) =B'U4 Sk () 7

U={1,2,3,4,.....10} , A={1,3,5,7,9} , B={1,4,7,10}
(b) Find variance. 9,9,8,8,9,8,9,18 e ()

8. (a) Prove that (cot @+ cosecB)(tan 8 —sin @) =secd —cos ;f,ggf:-_,:e () 8

(b) Circumscribe a circle about a triangle ABC with J;lﬁétjgcuwz:w_géufwrww AABC ()
sides 4B = G6em . BC =3cm and CA =4cm - U A 3B ) WS 4
9. Prove that a straight line drawn from the centre of a circle to 1 (,f;,/b'i,z)}_,f eIl &:_5(;..»_& 9
bisect a chord (which is nnt.a diametre) is perpendicular to the chord. _:‘:.t‘:?uf{;jrki;ﬁl"ﬂbi./(p&ff
OR L
\Iirnue that the opposite angles of any quadrilateral inscribed in a circle S }id(é.;!j.éﬁfﬂ&;:‘ﬁ?:d:}!:Ja.}hJ:( &_:?;&

are supplementary. Ut se sl

18-010-A-
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‘iﬁi" Tf? S.5.C - (Part-1)-A- 2018

ROHNO ___________________ .:._.r'z:ﬁ;u.:;f!’ ( FOE’ a" SESSEG“S ) Paper Code 7 1 9 4

Mathematics (Scicnce Group)(Objective Type) Group-II- “.;.""5; (g&./')(f:fu"'"v)(f &J

Marks: 15 . Time: 20 Minutes &2 20::25s 154
/,‘Ufr;_fl'.gq Fg}fﬂrw."f:':p—w.;.a T:f..:..-lﬁu":r;,,{;i.—f_..;Dﬁf,C,B,Aagfﬁ;ﬁyidlrﬂ Eﬁq;db/dlﬁd%/”f{j:ayﬁi:a!llr‘(vniu.b)
' S e SN 1350 s IHED L CBe A 52 L
"NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
Auestion with Marker or pen ink on the answer sheet provided,

1.1. A 4cm long chord subtands a central angle of GOD,the radial segment of E’a_fbrﬁ:_bb::,.ﬂjmﬂ%}'}}; UI;JIH(“AE.{T 34

thiscircleis____ . 1 Sl
(A) 1cm (B) 2cm (C) 3cm (D) 4cm

2. Acircle passes through the vertices of right angled A 4ABC with «mAC =3cm d-‘-'ABCbif‘:.:U’Iy"G‘U/ 2
mAC =3cm, mBC = demand mzZC =90° . radius Surblels SimsC =900 mBC = dem
of the circleis___ S — quf:._.}'f;ﬂl}é_.;f:.
(A) 1.5cm (B) 2.0cm (C) 2.5cm (D) 3.5cm

3. The circumference of a circle is called: ..g.,t"llg@fb’g_}b 3
(A) chord 7 (B) segment (C) boundary ., (D) secant % s

F g o -r % iy
4. The number of terms in given standard quadratic equationis: % +bx+c=0 _ﬁ-_:LuJJuH;L,d:J:L.A d.:l_,ud;mufj; A4

(A) 1 (B) 2 (C) 3 - (D) 4
5. If& [ are the roots of equationthen & + [ is: 33t +5x-2=0 e, &t B iuw il e B fi 5
’ 5 3 5 -3
(A) 3 B) 5 C) 5 D) 5
6. Sum of cube roots of unity is: .-"ﬁ_,.ﬁj‘fb/u,-dﬂfjfﬁljb/f 6
(A) O ' (B) 1 (C) -1 (D) 3
7. Inaratio g:b, ais called: _ et ataibes 7
(A) relation 3 (B) antecedent Af  (C) consequent (S (D) third 14
8. The third proportional of x* and y2 is: _ag._,fb*"yfb’ yz s x° .8
X 2,2 Y’ Y’
(A) 2 ® * © 2 (D)
] x* +1
9. (x-1)(x+2)Is: G E(x-1)(x+2) 9
(A) a proper fraction /s (B) an improper fraction /_2ls /¢
(C) anidentity =1~ ; (D) aconstantterm A
10. A collection of well-defined distinct objects is called: bR 10
. (A) subset o (¥ (B) powerset .yl (C) set o (D) empty set wxl
11. The different number of ways to describe a set is: ~e Sl SUB AL S S o 11
(A) 1 B) 2 (C) 3 (D) 4 |
12. A frequency polygon is a of many sides. ST KIJ u:i:'r;d‘/ o s 12>
| (A) closed figure ﬁ,ﬂ: (B) rectangle J‘—J’"" (C) square C';/ (D) circle o2
13. 20°is equal to: 64220 .13
T (A) 380 (B) 630 (C) 1200' (D) 3600'
14. Radii of a circle are: Sl e M5l 14
(A) all equal .d,frl? _ (B) double of diameter l'ﬁ:.;-_.,’:;
(C) all un-equal iz Fplt (D) halfofanychord &7 3565
15. A circle has only one . L I Ll e 71 15
(A) secant C!’ Fis (B) chord (C) diameter ¥ (D) centre /f,;

19-010-A-¥0 5%




S.8.C - (Part-11) -4-2018

Roll No. o Sirp o ( For all sessions )

Mathematics (Science Group) (Essay Type) Gruup—]]-.;df

Marks: 60 - Time:2:10 Hours 2’2:10::3: 60:/:;
Section -I 2x18=36 Ji'l,.b
2. Write short answers of any six parts from the following.  2x6=12 L2 fe it L g e (e e S5
i. Define quadratic equation. ..L,{f._é'/'fJ.::.—uL.f&nu N
ii. Solve by factorization: 5x* =15x _L{/‘U‘U f:'_f;.}:
ii. Find the discriminant of: 2x* =Tx+1=0 B i
v. Prove that the sum of the all cube roots of unity is zero. e by e MJJF(V"LJE{L( Ul i
| —1++/-3 - ;
v. Find WE, if: w=——2—— :/;L,:,?PMJ W
vi. Using synthetic division, show that(x —2) is the ¥ x* 4+ x% = Tx +2 S St saiis

factorof. x* + ¥ —7x+2

vii. Define inverse variation.

viii. Find the third proportional to 6 and 12,
ix. Find x,if:6:x::3:5.

.. Define identity.

X =x*4+x+]
x2+5

ii. Change in proper fraction.

lii. Define union of sets.

iv. Find XUY and XY N Y If: | X ={1,4,7,9}, Y ={2,4,5,9}

v. Define into function.

vi. Find the Range and Domain of "R" if: R= {(a,b),(b, H),(C, d),(d, G)}

vii. Define Harmonic Mean.

viii. Find the-Median of the given data: 1.9,23,2.527,2.93.1

ix. Define variance and write its formula.

SEt) (-.;:/u""fbw) U‘ LJ

«(x-2)d/z
RV AN
_%ﬁl"ﬁ__ﬂm/f?ﬁ'ﬁ 12

B AL Lt i
:/Ta.?F'JI”AfU}’J:IXﬂY N

eSS
Sl bt R
Ay (PN
,%ﬂ”fm,%rréér;

_ggumsls’wma_,i:yﬁfﬁ -

Vi

Vil
Viii
S x56:x:3:50 .
g 3. Write short answers of any six parts from the following. 2x6=12 _pfzgffal,fﬁﬁﬁdz!{adﬁ"_ufd s
it

AT RO

Vi
Vi

Viii

2



4- Write short answers of any six parts from the following. 2x6=12 -u_‘f Lyfﬁﬁ'?éplega;&)&_ﬁdi@u -4

1r | Tz
I. Convert —2~ into degree. -?&fﬁf’w{f/@ﬂ/? |
ii. Find "7" ,when: (=52cm , 6=45" :.Q%P‘r* i
iii. Write 47.36° into D°, M' and S" form. e rs DS 47.36° i

iv. Whether the triangle with sides 8cm, 15cm and 17cm is acute b A iUt 1T sl 15 BL UL 2 v

obtuce or rightangled? Se il i 1246
'v. Define circle. _ dé‘ﬁt‘/._.y/"m}l: v
vi. Define secant line. *ghgftfhﬁd’ﬁ' Vi
vii. Define circumference of a circle. | _g..éj }‘Ui:fb’afb Vil
viii. Define Circum angle. | ,.’f__ﬁ:.njjﬁ@.auaﬁ{f Viii
ix. Define the inscribed circle. ,E;f-(_y/""&}b;f" JiX
Section -II (322>
Note: Attenipt three questions in all while Q:No.9 is compulsory: 8x3=24 _q-_djﬂs/f-'dlx.ﬁq);rfml,fﬂ[.@ﬂlrch/ WLy
5. (a) Solve the equation by completing square method. x*+17x +§ =0 _F_*_,{J" Ci/‘}f:g;@f.;hu () 5
(b) &, P are the roots of the equation x> =Tx+9= 0, ﬁﬁqfu%;ﬁ x*=Tx+9=0=i- 5.2 f (n,-)

form an equation whose roots are 2& and 25 . _un2f 2 L;j,xﬁu’*q:ﬁ:.«hlf

x!x?‘-f-2+\fx2-72ﬁ2 o
6. (@) Solve by using theorem of Componendo-dividendo m ~ m i Héfc.ugfds."i%{ 7 () 8

9
(b) Resolve into partial fractions: (I_ l)(x + 2)3 _L{f'_}:.b'u:;/dﬂ (l-')
7. (a) IfA={1,3,5,7,9},B={1,4,7,10) and U={1,2,3........,10}, »1B={1,4,7,10)A={1,3,5,7,9)./1 () .7
then prove that: (A U.Ei’)r =A'NB :féé’::qE?ﬂU#‘I,213”......,10}
(b) Find standard deviation from the given data. 9,3,8,8,9,8,9,18 _L,j:‘?‘:'"_jﬁd;_kf::.:!fﬁcf_.: (...‘..-)
| 8. (a) Prove that . (cnt€+cos ecﬁ)(tan9~5in 6') =secd—cosl S St () 8
(b) Inscribe a circle in an equilateral triangle ABC with each side L 1B bl ABCELEL 1ol Ssl- ()
,F of length 5cm. | ~Hfr EJI_JJC{‘}
9. Prove that two chords of a circle are congruent then they will be -;:,}':m?u:fjb'*}:mﬁ.;.}hf :"._.f-f:.-;t* 9
equidistant from the centre.  OR k _Zuﬁiflﬁlidsu

Prove that any two angles in the same segment of a circle are equal. Lyl gcuﬁguu:;_}'u;ﬁwhﬂﬁé.suf gf;,:g

20-010-A-




ir

RO” NG._ _h:_)}:;.éugf

——— e —— R b . e e s B

8.8.C - (Part-11)-A- 2019
( For all sessions )
Group-I- .f.sf

Mathematics (Science Group)(Objective Type)

Marks: 15

segment of this circle is:
(A) four JL.?

(B) one {I

_ Time: 20 Minutes &2*20:%
A B8z e WP L4 DJJ!,C,B,AagIgﬂgédlrﬁgng (25 G linl e s 9

PaperCode | 7 | 1| 9 | 3

(&Nl L s
15:4

_LZJ/LLSEL-JéLLL}‘:’_ ke JhusbD | C,Be Aszi L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
- gquestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.
1.1. A 4cm long chord subtends a central angle of 60°. The radial

(€) two

2. Tangents drawn at the end points of the diameter of a circle are:

(A) parallel (f1#
3. A line intersecting a circle is called:

(A) tangent W (B) chord

4. Standard form of quadratic equation is:

(A) bx+c=0,b#0 (B) m:2+bx+c.—_{],a¢0 (C) ax2=bx,a;&_0

5. Product of cube roots of unity is:

(A) O B) 1 L

(B) perpendicular £ (C) intersecting A

7 (C) secant AT

© -1 L&

e Flisls KGUU{}D‘}JUFJJHr"ﬂr\__G 8 |
R L JIE
(D) three ¢f

G nuWus L Bl Sl 2

(D) non collinear Lf’?r"*'/;‘
bt s 3

(D) boundary -
_;l:.fLSJ“L#’J&UL"L;JHJ 4

| (D) GIE ={},G’$U
—%—h-#ﬁ(),‘h’ghf"'ﬂfiféﬁjgl 5

D) 3 ¢

6. 1fb’ —4ac <0 then the roots of ax’ +bx +c¢ = Oare: -LgLﬁ(,;};L ax* +bx+c=0hidn b’ —4ac<0 /i 6

(A) irrational  J°t#

2
7. ULV then:

(B) rational (¥t

(C) imaginary (54

(D) natural (.3

" 2
Ieu eV i 7

(A) u=v’ (B) u =’
8. Find"x" in proportion 4:x::5:15.
7 4
(A) 4 (B) 3
xX+2
9. Partial fraction of (x+1)(x2+2) are:
A N B A 4
(A x+1 x*+2 B) x+1

10. The set{xf.remm xs;l(}l} is:
(A) infinite set La(sits#

number of elements in AxB is:
(A) three  f

(B) subset ocx (¥

11. If the number of elements in set Ais 3 and in set B is 4, then

(B) four .k

(C) seven =

12. A data in the form of frequency distribution is called:

(A) range o~

3z
13, ";1‘" radians is equal to:
(A) 30° (B) 115°
14. A complete circle is divided into:
(A) 90° (B) 180°
15. A circle has only one
(A) centre /ff (B) secant

(C) 135Y

() 270°

ATE

(C) chord
17-010-A-3C 3¢

©) wi=k (D) uv’ =1
_L,fjf-,h‘"_ﬁ:”i;él:x::S:IS —lc .8
3 .
(C) 12 D) 4
x+2
-:;-(jﬁ (Hj- ----- w6z (x+1)(.1:2+2) 9
-Bx+C Ax-+B+ C .- A i Bx
x* 42 ©) x+1  x*+2 O x+1 x*+2
_,,‘;_w;f{xfxew.a xi]OI} 10
(C) nullset x(b (D) finite set (5t

S8 AXBId Bl 3t St AL 11

-&- L}m e

(D) twelve ol

e bt PSS 12

(B) Histogram :—"ﬂo‘l ¥ (C) ungrouped data ;Ir‘o?:/;f (D) grouped data :Iy'duf

37
00 7 13

(D) 150°
_ﬁ:_t‘lgulf(f?;;_fbd; 14
(D) 360°

WK S— Sikld b A fl 15
(D) diameter 5



S.5.C - (Parl-II) -A-2019
Roll No. ( For all sessions )

¢ | . Group-I- 1:-*3/(
Mathematics (Science Group) (Essay Type)

r'_f.é.r?'.rls.i-"f

(26N (5L
6{}:/:}

Time:2:10 Hours &% 2:10:=%
Section -I 2x18=36

2. Write short answers of any six parts from the following.

Marks: 60
| Jilo
2x6=12 Sy felin Al g e e LS5t 2

Define quadratic equation with an example.

_LZJLJEE‘th}lL;:/C-éJ/FJ&:LJ‘L;J}H :

ii. Solve: 4-32x=17x AL i
iii. Find nature of roots of: x*—=23x+120=0 _u_“/’!;}”fl,—ﬂ"lf(fu%; .ii.f
iv. Evaluate: w4+ w e v
- v. Without solving find the sum and product of: 3x2+Tx—11 =0 _L{J?JL"‘__.H,*J"" basles? B’uj_u._{d’/éf RY
r ;-"i-.l_f @, 3 are the roots of the equati_onxll'-l-px-kq =0, then Lx*+px+g=0cblfa i yi
calculate @ + 5. _(J__’)F':l’“‘.:‘{’:.(,( a’ + Eu:fuj,u
h vii. Define direct variation. _q/...yj’",‘fyu,é? Vii
viii. Find méan proportional between 20x°y° | 5x"y _.J)F':"’._abﬂif}b-: Vii
lx If‘r‘f‘:’?;lf and A =2whenr=3, find"when 4 =72 = A= 72_131)'/?}#?'_..-—_1-—-3._:14 2..!!'.4":':_"/".]}{
- 3. Write short answers of ariy six parts from the fn[lowmg. 2x6=12 -J):rf...«Lff/":f_pfffﬁ':,dyf:,ufJ;@: 3
i. Define improper fraction. _éisjj’(f/{__‘:zf:/{ i
F _ii. Convert the given improper fraction into proper fraction. ?’ii _i}:] '_L,_ffg_)“,a,:‘u: /_‘,.:_-r,;ﬂf_:..:;b/:; L’ff s i
ii. Find a and b if: (a—4 , b— 2) = (2,1) :/'T%F;L"ufétfbma i
iv. Find the number of elements in Y x X and X x X if X = {a,b, C} e — {d, E} :ﬁ%‘:"“ﬂﬁ{u%hﬂ XxX » Y x X v
. v. Define binary relation. S8 P5dE v
vi. Define the bijective function. qu_gﬁJuﬁr?JL Vi
- vii. Define variance. . | . ._;f-..éf/"-o(:.-.:,é’:'ﬁ Vii
| vili. Find the range of given weights of students.110,109,84,89,77,104,74,97,49,59,103,62 ..L{/?'PMJL*)U:F{{{_:;C;,UJ’ Viii
Ix. Find Arithmetic mean by direct method for the following set of data. -L,,«:/?PL-‘?"T )’.&-A:L&_:ﬁf:l(_}usfﬂr‘d_ il X

4- Write short answers of any six parts from the following.

200,225,350,375,270,320,290

2x6=12 LSy fe e s e (e S 5t -4

i. Define quadrantal Angle. _gi.‘ijf?&'_:fj&s 5
- 137 137
ii. Convert —— into degrees.
16 - .
jii. Find @, when: £=2cm ., r=3.5cm /r_'{vl” A i




iv. What is meant by zero dimension? _ e sl e er§p v

v. Define collinear points. | _ébgﬁﬁwbr‘? vV
vi. Define tangent of a circle. _qfhE/?JJVZ:nfu Vi
vii. Define chord of a circle. -ég-iéfﬁbr}ﬁévfb Vi
viii. Define sector of a circle. : . _ﬁi@;&}u&lﬁzfg il
ix. Define regular polygon. - | -%r_éfﬁdféﬂbw}@fx X
Section -II r‘ﬂ,.:a:.- |
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 ...=;_o’,:usﬁdrr.éq&faymz’_mrr&f o7
5. (a) Solve the equation. vx+3=3x-1 | _f:_;_ig’:.,ubw () .5
. (b) Find the value of / using synthetic division if 3 is /ﬁQ/?‘:bfafJ h .::.JF"“FL;‘-T?&(} (i—-f)
the zero of the polynomial. ' 2;;3_-—3131:2 +9 —J’E!"J‘-?E’/U!J/?, '3k
6. (a) Using componendo-dividendo theorem solve the equation: YIS ete AL e S () 6

(x+5) =(x-3)" 13
(x+5) +(x-3)" 14

x-5 "
(b) Resolve into partial fractions: 4+ 2%—3 -%L}f-y Vs 2 (-,--)
7. (a) Verify that: (ANB)NC=AN(BNC) i S(ANBYNC=AN(BNC) s 2£3.5 () .7
U={1,234,....10} , 4={1,3,57,9} , B={1,4,7,10},C={1,5,8,10}
{(b) The marks of the six students in the Mathematics are as ”L,,EJ:EE,;;J/;‘;E:).U" bt L;d:u:kghg (._'_,)
- follows. Determine "Variance". | : -L,_f/f':t”"-.._.; Y-

Student No. 1 2 3 4 5 6
Marks 60 70 30 90 80 42

l1+sin@ 1-sind
= =4tanfsecld T o
l1-sin@ 1+sin@ : rfd}(djﬂ () .8

(b) Inscribe a circle in a triangle ABC with sides given below. L_,EJ".;E',(JJL}_L;I:»JJCIMFIQLéf:-.—-b:ﬂ}lﬂffg AABC (,_;,)

8. (a) Verify that:

Also measure its in-radius. |AB| = S5¢m,|BC [ =3cm, CAI = 3cm ..’q_fF;L"‘leﬂfEivl;f
9. Prove that "perpendicular from the centre of a circle on a ‘%_tfhi;‘*ﬂtfwuf{}_agr e Irle 157 é::rt- .9
chord bisects it" OR | L

Prove that any two angles in the same segment of a circle are equal. -t ssle@LUn Ols s Habi S Ling_sts 28 ot

18-010-A-




‘j,’f(‘f.{ S.S.C - (Pari-11)-A- 2019

Roll No. _ e S Ml ( For all Sessions } Paper Code | 7 1 | 9 | 4

Mathematics (Science Group)(Objective Type) Group-lI- 1—*-’/( (J‘i/)(.f:fu"’v)dp &J

Marks: 15 Time: 20 Minutes &2 20523 15:/:2
Ay gz 'MJL;TI.._A:?&:@EEKE:JDJJI,C,B,A-.:'.—I,Iﬁ.'-@tigc"_,-dfrjr;&,f%d (32 IOzl e v
e Sl S 3e LD | C B Azl L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
Guestion are given.Which answer you consider correct, fill the corresponding circie A.B,C or D given in front of each
question with Marker or p'en ink on the answer sheet provided.

1.1. The length of a chord and the radial segment of a circle are congruent, '&_,a,}:_UEJIJQEHJJIJJJJIEJJLJIJ..Q S F

the central angle made by the chord will be: | 1 — ,.ar.:u'y}uu
(A) 30° (B) 45° () 75° ' (D) 60°
2. How many common tangents can be drawn from two touching circles? TL,&'éLgi-b:J Vgéu:}F:LﬁL/u’G: 2
(A) 1 B) 2 (C) 4 | (D) 3
3. How many tangents can be drawn from a point outside the circle? ?ugélggdbfz’:eﬁﬁﬂl;ﬁf_}b 3
(A) 1 (B) 4 (C) 3 (D) 2
4. The quadratic formula is: | _.:;_ﬂy‘;li&;m 4
_b+b? —4ac b ++/b? —4ac ~b+b? +4ac b++Jb? +4ac
(A) X = (B) X= (C) x= D) X=
2a 2a . 2a 2a
5 o+ s equal to: e slx a’+p 5
m o= F @) Q,TJ];“E © (a+f)-2ap (@) *+P
6. 1f@, B are the roots of x* —x—1=0 then product ¥ 20 2a ?uﬂ:,}'?ucc P —x—1=0cbl-B.2 i 6
of the roots 2@ and 2/ is: e tre S
(A) -2 (B) 2 (C) 4 (D) -4
7. Ifa:b=x:y then alternando property is: . el A b=x:y N 7
a b | a x at+b x+y a-b x-y
(A) I‘; (B) 3_; * € "1_}, ) y
8. In a proportion a:b::c:d, "a" and "d" are called: _ugz.Md slageabicda-t 8
(A) means u;*".u (B) extremes c,r-‘?)’ (C) third proportional _,..rt*i'i/f (D) fourth proportional -t £
- E42 | x+2
9. Partial fractions of (x+ 1)(;;2 + 2) are of the form. _L,E’JﬂJ(:'_____J/d:ZJ (x+1) (xz + 2) 9
A . B A +JB’J:JH.'Z’ | Ax+8+ @ A " Bx
A i1 % +2 ® Y1 X +2 © 51 T2 ® i1 42
10. If number of elements in set "A" is 3 and in set "B" is 4, then L}:AKB;‘:?'EI”J“B"...Lf_uF"B“;Iﬁleﬁfl.«f_"A"qﬁ 10
number of elements in AxB is: _;;_.me"&;;téf
(A) 3 (B) 4 () 12 D) 7
11. If number of elements in set "A" is 3 and in set "B" is 2, then s JEL AxBIR2 B3I S AL ST 11
the number of binary relations in AxB is: -{.-Jﬁjf.u-’—J
(A) 2° | - (B) 2° ) 2° (D) 2°
12. A frequency polygon is a many sided. e KIJ&J@’G@MHV}@M 12
(A) closed figure S (B) rectangle JF/ (C) square (D) triangle &A%
13. 20°is equal fo: | .,;;_..J:L.-:EOG o
(A) 360’ (B) 630" (C) 1200' (D) 3600'
14. Locus of a point in a plane equidistant from a fixed point is called: _q..turcuﬁ,;ﬁﬁ,m;.&‘ﬁgfﬁ?qs’w?(lfidﬁ“ 14
(A) Radius Ul (B) circle 7D (C) circumference k¢ (D) diameter
15. Tangents drawn at the ends of diameter of a circe are____to each other. _.ug.—‘i.ﬁ___--JﬁTuviéuyéﬁﬁgﬁu 15
(A) parallel (il (B) non-collinear k(i (C) colinear k(% (D) perpendicular s
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S.5.C - (Part-IT) -A-2019

Roll No. <L#nel | (For all sessions )
= | : *
Mathematics (Science Group) (Essay Type) GFOUP-H*-;-’j &) (..%..-:fu" ) U‘ &J ,
- * - » |
Marks: 60 Time:2:10 Hours g 2:10:239 60:
Section -I 2x18=36 ;J.?l,.b
2. Write short answers of any six parts from the following. 2x6=12 -q‘&;byﬁﬁitﬁﬁﬂ?hzﬁ—afc:.wutj@ﬂ 2
i. Solve the quadratic equation. 3x* =7x=20=0 _:_J__’/(LJ":’/:AL#&J;:: i
- : . : | & o PP
ii. Define exponential eguation. -c.'.“;-'a._-_ﬁ_J/LU/u..‘:.»IJL-*‘dV».‘Lf i
iii. Evaluate: . w e -JF}V._J i
iv. If @, are the roots of the equation4x* —5x+6 =0, then Tl 4x? —5x+6=0=b-a, 8 1 iy
| Ty o1
ind the value of —+— . : S d S — = s
find e value of — 3 S/ ..d/g ﬂ:uy
v. Write the quadratic equation having roots 2,-6. _ _.uﬁZ:-Gu’fs.uCu’z’:_"g:.«uL/&m: AY
vi. Use synthetic division to find the quotiént and remainder when: ;:laﬁJ’bLﬁLdeIr*fy} i
. ; (4x3_5x+15)+(x+3) _H&L{JW’”:}"L
vii. Define inverse variation. | : SIS i
viii. Find a third proportional of X+ ¥ and x* — y°. -&}Vgﬁw“( X' =i x+y ii
iX. Ifyccx?‘ and y=81lwhenx =3 find Ywhenx=35. x=5x._.«%$(-(:‘“":afJJ’=.}:=3__.~2J?=81;;Iyocx3j X
" 3. Write short answers of any six parts from the following. 2x6=12 _L{j;faglﬁﬁ?é:ffzi{;.J:f:,uf(f"j@;: '3
- 6x’+5x° -7 -
} i. Resolve into proper fraction. ; 5 ; 1 -qu"guf/h:_ei:{,/ i
' | ] X —2X= P
ii. Resolve into partial fractions — e _,?L}Fuf.‘;f”d:;?f 2 I/ i
. & x5 — ) X -
iii. Define one-one function. . _ _L{fbf‘_J/-’JuF'é one-one .iii
iv. 1M ={d,e, [, g}, then find two binary relation in M x M 086 M x M 3n M = {d,e,[,g} ) iv
v. Find "a" and "b" if: (2a+5,3)=(7,b—-4) Jig S bsta v
vi. Write Dom f and Rang f if: f= {(0,1),(],2),(2,3),(3,4)} :ff&}”Range fsDomf .vi
vii. Define Mode. . | —u_'/r:-é’f"'u(ul: Aii
viii. Find the geometric mean of the observations by using basic formula 2,4,8 _@F}"‘JmId,gﬁls’bl,fﬁaﬁ_ﬁifdb:’u:ﬁi&d:g Vil
ix. Find mean {Arithm_etic mean }' of the observations. 34,34,34,34,34,34 _L{/?:l”h»-ﬂdw Kol 2 X
4~ Write short answers of any six parts from the following. 2x6=12 uq&fmgfﬂﬁgﬁflzl@tﬁf&uﬂJﬁjﬁm -4
) i. Define an angle. _gf/bgfbfzf;rj R
i. Convert25°3(' to decimal degrees. =~ _E;{Ltfuﬂd/qd‘ﬁf 25930 i

_iii. Find the distance travelled by a cyclist moving on a circle of radius 15m, if /’-:‘15Jlub’u’3:/r‘£;:._}u..fl;frfvhﬁ Jjii
he makes 3.5 revolutions. . ?L_Cf;ﬁ_j-'iﬁﬁ_brrf’__l?-.::_tﬁzg&Srﬁ




vi.
Vii.

viii.

5.

oSl

Define projection of a point. AV
Define a circle. ..f%_{...gjﬂﬁ}b v
Define secant of a circle _,u:"g._gjmﬁ E‘j’ﬁ}’:a}*b Vi
Define arc of a circle ..%:é{jﬁtfd}-ccnjh Vi
Define chord of a circle. L P50 i

St ix

. Define Polygon.
Section -II r::,.fb
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -.g_u;ua,:"dlr.géq&}ayﬁ/_’@uwﬂf WLy
| 2x+1 x-2 |
(a) Solve the given equation by using quadratic formula. ) - _— =0 _é(fr_-- JWILJ:";EJ.;::::(:.—UL-‘fLﬁ (a-.-;'”) b

. (a) Prove that: (AﬂB)’zA’UB',if:'

. (@) Verify the identity:

x>+ y“ +z° —3xyz = (.ﬁ:-!- y +z)(x + Wy + sz)(IJF WEJ’ + ""”z) _P_?-(:-:E ('-.-")

(b) Prove that:

S i e Lo () 6

\jx2+2+\/x2—2 3

\fx2+2-—\/xz—2 3

Tx+4
(3x+2)(x+1)

(a) Using componendo-dividendo theorem, solve:

2

.ﬂgﬁd;r/dj}? (l_‘_,)

(b) Resolve into partial fractions:

Si(4NB) = A'UB St (I 7
U={1,2,3,4,5,6,7,8,9,10} , 4={1,3,5,7,9} , B={2,3,5,7}
_L,{_?LJ:}DJJ/"[:I}/(JJIPU: Lﬁ"l;;ﬁlu;‘lf_ﬂ.bé (t-‘-f)

() The marks of six students in mathematics are as follows.

Determine varianance - ff’-j’“‘ e
No of Students  sifs LY 1 2 3 4 5 6
Marks ./~ 60 70 30 90 80 42

/]+c056'_ sin & g( o
l—cos@ 1-cosl ~&Fesbad /) .8

(b) Draw two circles with Radii 2.5 cm and 3 cm. If their centres Kﬁ/&iurﬁb{;r‘“mﬂ(zSJIJJLt:)?Uf{.-EIm (..:...-)
-ﬁ% Lf_f)j’yl;;;?.ﬁf G.EJfﬁLlyJ:
J(ﬁ;ﬁﬁ)hf;}ffigfbtf&df 9

: f-:_ tﬁ::f{;‘:cﬁ;};’- s r.L):-i:“:""

are 6.5 cm apart, then draw two direct common tangents.

Prove that "a straight line drawn from the centre of a circle to bisect the

chord (which is not a diameter ) is perpendicular to the chord."

OR l

Prove that any two angles in the same segment of a circle are equal. -uj‘.—'"_:f.s:u(?erﬁ@izdafi:,ﬁwuﬁﬁa__ﬂjfég_{z& '
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